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vkj-ih-,l-lh izkjafHkd ijh{kk&2021 
lkekU; vè;;u (iz'u i=k)
RPSC Prelims-2021

General Studies 
(Questions Paper)



	 1.	 jktLFkkuh Hkk"kk] lkfgR; ,oa laLÑfr vdkneh dgk¡ 
vofLFkr gS\

	 (1)	 t;iqj	 (2)	 mn;iqj

	 (3)	 chdkusj	 (4)	 tks/iqj

	 2.	 vkgM+ lH;rk ds ckjs esa fuEu dFkuksa ij fopkj dhft,µ

	 (A)	 vkgM+oklh rkack xykuk tkurs FksA

	 (B)	 ;s yksx pkoy ls ifjfpr ugha FksA

	 (C)	 /krq dk dke vkgM+okfl;ksa dh vFkZO;oLFkk dk 
,d lk/u FkkA	

	 (D)	 ;gk¡ ls dkys&yky jax en~Hkk.M feys gSa] ftu 
ij lkekU;r% lisQn jax ls T;kferh; vkÑfr;k¡ 
mdsjh xb± gSA

		 lgh fodYi dk p;u dhft,µ

	 (1)	 C ,oa D lgh gSa	 (2)	 A ,oa B lgh gSa

	 (3)	 A, C ,oa D lgh gSa	 (4)	 A, B ,oa C lgh gSa

	 3.	 jktLFkku ds jhfr & fjok”kksa esa ^vka.kkS* D;k gS\

	 (1)	 nqYgu ds ifjokj }kjk oj dh ckjkr dk Msjk 
ns[kus tkuk

	 (2)	 dq¡vk iwtu

	 (3)	 fookg ds i'pkr~ nqYgu dks nwljh ckj llqjky 
Hkstuk

	 (4)	 ty>wyuh dh ,dkn'kh iwtk

	 4.	 fuEufyf[kr esa ls dkSu&dkSu ls fl¼kar tSu /eZ ls 
lacaf/r gSa\

	 (i)	 vusdkUrokn	 (ii)	 loZfLrokn

	 (iii)	 'kwU;okn	 (iv)	 L;knokn

		 uhps fn;s x;s dwV dk mi;ksx dj lgh mÙkj pqfu,µ

	 (1)	 (i) ,oa (iv)	 (2)	 (i), (ii) ,oa (iii)

	 (3)	 (ii) ,oa (iii)	 (4)	 (ii) ,oa (iv)

	 5.	 :ek nsoh ds ckjs esa fuEu esa ls dkSu&lk dFku lgh 
ugha gS\

	 (1)	 os tljkiqj ([ksrM+h) xk¡o esa iyh & c<+hA

	 (2)	 mUgsa Hkkjr ds jk"Vªifr }kjk 2018 esa ^ukjh 'kfDr 
iqjLdkj* ls lEekfur fd;k x;kA

	 (3)	 mUgsa gLrf'kYi ds {ks=k esa tkuk tkrk gSA

	 (4)	 mUgksaus gtkjksa efgykvksa dks jks”kxkj c<+kok nsus esa 
vge Hkkxhnkjh fuHkkbZA

	 6.	 ekS;Z dkyhu ew£r;ksa esa] ef.kHknz (;{k) uke ls vafdr 
ew£r fdl LFkku ls izkIr gqbZ gS\

	 (1)	 csluxj	 (2)	 >hax&dk&uxjk

	 (3)	 ij[ke	 (4)	 uksg xzke

	 1.	 Where is the Rajasthani Bhasha, Sahitya and 
Sanskriti Academy located?

	 (1)	 Jaipur	 (2)	 Udaipur
	 (3)	 Bikaner	 (4)	 Jodhpur
	 2.	 Consider the following statements pertaining to 

the Ahar Civilization –
	 A.	 The natives of Ahar knew copper smelting.
	 B.	 Rice was unknown to them.
	 C.	 Metal work was one of the means of 

economy of the Ahar.	
	 D.	 Black - Red coloured pottery have been 

found here, on which generally white 
coloured geometrical designs has been 
carved.

		  Choose the correct option.
	 (1)	 C and D are correct
	 (2)	 A and B are correct
	 (3)	 A, C and D are correct	
	 (4)	 A, B and C correct
	 3.	 What is 'Aanau' in social customs and traditions 

of Rajasthan?
	 (1)	 Going to see the bridegroom's wedding place 

by bride's family
	 (2)	 Well worship
	 (3)	 After marriage sending bride to her in-law's 

house for the second time
	 (4)	 Worship of Jal Jhulni Ekadashi
	 4.	 Which of the following Doctrines are associated 

with Jainism?
	 (i)	 Anekantavada	 (ii)	 Sarvastivada
	 (iii)	 Sunyavada	 (iv)	 Syadvada
		  Select the correct answer using the code given 

below–
	 (1)	 (i) and (iv)	 (2)	 (i), (ii) and (iii)
	 (3)	 (ii) and (iii)	 (4)	 (ii) and (iv)
	 5.	 Which of the following statement regarding Ruma 

Devi is not true?
	 (1)	 She was brought-up in the village Jasrapur 

(Khetari).
	 (2)	 She was felicitated with 'Nari Shakti Award' 

by the President of India in 2018.
	 (3)	 She is known in the field of Handicrafts.
	 (4)	 She played a major role in providing 

employment to Thousands of Woman.
	 6.	 Among Mauryan idols, the idol inscribed with the 

name Manibhadra (Yaksha) was found from with 
place?

	 (1)	 Besnagar	 (2)	 Jhing-ka-Nagra
	 (3)	 Parkham	 (4)	 Noh village
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	 7.	 c;kuk nqxZ fLFkr ofjd fo".kqo/Zu fot; LraHk fdl 
dky dk ekuk tkrk gS\

	 (1)	 eqxy dky

	 (2)	 ekS;Z dky

	 (3)	 lYruy dky

	 (4)	 xqIr dky

	 8.	 lwph&I ,oa lwph&II dks lqesfyr dhft, rFkk uhps fn;s 
x;s dwV esa ls lgh mÙkj pqfu,µ

		  lwph&I		 lwph&II

	 A.	 ozhgh	 (i)	 xUuk

	 B.	 eqn~x	 (ii)	 pkoy

	 C.	 ;o	 (iii)	 ewax

	 D.	 b{kq	 (iv)	 tkS

	 dwV
		  A	 B	 C	 D

	 (1)	 (i)	 (ii)	 (iii)	 (iv)
	 (2)	 (iii)	 (iv)	 (i)	 (ii)
	 (3)	 (iv)	 (iii)	 (ii)	 (i)	

	 (4)	 (ii)	 (iii)	 (iv)	 (i)

	 9.	 lwph&I ,oa lwph&II dks lqesfyr dhft, rFkk uhps fn;s 
x;s dwV esa ls lgh mÙkj pqfu,µ

		  lwph&I		 lwph&II

	 A.	 gkoM+k "kM~;a=k dsl	 (i)	 ekLVj vehpan 	
		 (vehjpanz)

	 B.	 ykgkSj "kM~;a=k dsl	 (ii)	 vjfoan ?kks"k

	 C.	 fnYyh "kM~;a=k dsl	 (iii)	 tfrUnzukFk eq[kthZ

	 D.	 vyhiqj "kM~;a=k dsl	 (iv)	 jktxq#

	 dwV
		  A	 B	 C	 D

	 (1)	 (ii)	 (iii)	 (iv)	 (i)
	 (2)	 (i)	 (ii)	 (iii)	 (iv)
	 (3)	 (iv)	 (iii)	 (ii)	 (i)
	 (4)	 (iii)	 (iv)	 (i)	 (ii)

	10.	 lwph&I ,oa lwph&II dks lqesfyr dhft, rFkk uhps fn;s 
x;s dwV esa ls lgh mÙkj pqfu,µ

		  lwph&I		 lwph&II 

		  (R;kSgkj)		� (mRlo dh frfFk@
ekg)

	 A.	 cwanh dh dtyh rht	 (i)	 Hkknzin Ñ".k r`rh;k

	 B.	 gksyh	 (ii)	 iQkYxqu iw£.kek

	 C.	 i;qZ"k.k ioZ	 (iii)	 Hkknzin ekg

	 D.	 x.kxkSj	 (iv)	 pS=k eky

	 7.	 Varika Vishnuvardhan Victory Tower situated in 
Bayana fort belongs to which period?

	 (1)	 The Mughal period
	 (2)	 The Mauryan period
	 (3)	 The Sultanate period
	 (4)	 The Gupta period
	 8.	 Match list-I with list-II and choose the correct 

answer from the code given below-
		  List-I		  List-II
	 A.	 Vrihi	 (i)	 Sugarcane
	 B.	 Mudga	 (ii)	 Rice
	 C.	 Yava	 (iii)	 Mung bean
	 D.	 Ikshu	 (iv)	 Millet
		  Code:
		  A	 B	 C	 D

	 (1)	 (i)	 (ii)	 (iii)	 (iv)

	 (2)	 (iii)	 (iv)	 (i)	 (ii)

	 (3)	 (iv)	 (iii)	 (ii)	 (i)

	 (4)	 (ii)	 (iii)	 (iv)	 (i)

	 9.	 Match list-I with list-II and choose the correct 
answer from the code given below-

		  List-I		  List-II
	 A.	 Howrah Conspiracy 	 (i)	 Master Ami Chand	

case		  (Amir Chand)
	 B.	 Lahore Conspiracy 	 (ii)	 Arvind Ghosh
		  case
	 C.	 Delhi Conspiracy	 (iii)	 Jatindranath
		  case		  Mukherjee
	 D.	 Alipore Conspiracy 	(iv)	 Rajguru
		  case
		  Code:
		  A	 B	 C	 D

	 (1)	 (ii)	 (iii)	 (iv)	 (i)
	 (2)	 (i)	 (ii)	 (iii)	 (iv)
	 (3)	 (iv)	 (iii)	 (ii)	 (i)
	 (4)	 (iii)	 (iv)	 (i)	 (ii)	
	 10.	 Match list-I with list-II and choose the correct 

answer from the code given below–
	 	 List-I		  List-II
		  (Festival)		�  ( D a t e / M o n t h 

celebration)
	 A.	 Kajli Teej of Bundi	 (i)	� T h e  t h i r d  o f 

B h a d r a p a d 
Krishna

	 B.	 Holi	 (ii)	 �Full moon day of 
Phalgun

	 C.	 Paryushan Parva	 (iii)	 Bhadrapad Month
	 D.	 Gangaur	 (iv)	 Chaitra Month
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	 dwV
		  A	 B	 C	 D

	 (1)	 (i)	 (ii)	 (iii)	 (iv)
	 (2)	 (i)	 (ii)	 (iv)	 (iii)
	 (3)	 (iii)	 (iv)	 (i)	 (ii)
	 (4)	 (iv)	 (iii)	 (ii)	 (i)

	11.	 fo/ok iqu£ookg dks izksRlkfgr djus ds mís'; ls 1871bZ- 
esa jkteqUnzh lks'ky fjiQkWeZ ,lksfl,'ku LFkkfir fd;k 
x;k Fkkµ

	 (1)	 ds- Vh- rsyax }kjk

	 (2)	 ohjs'k¯yxe }kjk

	 (3)	 ds- jkeÑ".k fiYybZ }kjk	

	 (4)	 xksikykpkfj;kj }kjk

	12.	 lekpkj i=k ̂ e”kg:y l:j* dgk¡ ls vkSj dc izdkf'kr 
gqvk\

	 (1)	 vtesj] 1840	 (2)	 mn;iqj] 1879

	 (3)	 t;iqj] 1856	 (4)	 Hkjriqj] 1849

	13.	 fuEu dFkuksa ij fopkj dhft;s vkSj fn;s x;s dwV dk 
iz;ksx djrs gq, lgh mÙkj dk p;u dhft;sµ

		 dFku 1 %	fot;uxj ds 'kkld Ñ".kn sojk; u s 
veqDrkekY;n xaazFk dh jpuk dhA

		 dFku 2 %	Ñ".knsojk; dks vka/z Hkkst ds uke ls Hkh tkuk 
tkrk gSA

		 dFku 3 %	muds njckj dks vYylkuh isM~Muk uked 
jktdfo lq'kksfHkr djrk Fkk] tks laLÑr ,oa 
rfey nksuksa Hkk"kkvksa dk Kkrk FkkA

		 dwV%

	 (1)	 dFku 1 lgh gS

	 (2)	 dFku 2 lgh gS

	 (3)	 dFku 1 vkSj 2 nksuksa lgh gSa

	 (4)	 lHkh rhuksa dFku lgh gSa

	14.	 lsUVªy bysDVªksdsfedy fjlpZ bafLVV~;wV dh LFkkiuk 
vyxIik psfV;kj] MkW] 'kkafr Lo:i HkVukxj ,oa ia- 
tokgjyky usg: ds iz;klksa ls dgk¡ vkSj dc dh xbZ\

	 (1)	 psUubZ] 1948	 (2)	 f'koxaxk] 1953

	 (3)	 y[kumQ] 1951	 (4)	 djkbZdqM+h] 1953

	15.	 tks/iqj ujs'k eku¯lg dh jkuh HkfV;k.kh izrkidq¡ojh us 
vius }kjk cuk;s x;s eafnj dks iqu% vU;=k cuok;k] 
D;ksafd igys okyk eafnj tehu esa /al x;k Fkk] vkSj 
mlus mldh izk.k izfr"Bk 1857 esa djkbZA ml eafnj dk 
uke gSµ

	 (1)	 ?ku';keth dk eafnj	 (2)	 egkeafnj

	 (3)	 dqat fcgkjh eafnj	 (4)	 rhtk ekath dk eafnj

		  Code:
		  A	 B	 C	 D

	 (1)	 (i)	 (ii)	 (iii)	 (iv)
	 (2)	 (i)	 (ii)	 (iv)	 (iii)
	 (3)	 (iii)	 (iv)	 (i)	 (ii)
	 (4)	 (iv)	 (iii)	 (ii)	 (i)
	 11.	 The Rajamundri Social Refrom Association to 

encourage widow re-marriage was founded in 1871 
by –

	 (1)	 K. T. Telang
	 (2)	 Veeresalingam
	 (3)	 K. Ramakrishn Pillai

	 (4)	 Gopalachariar

	 12.	 Where and when was the newspaper 'Mazharul - 
Saroor' published?

	 (1)	 Ajmer, 1840	
	 (2)	 Udaipur, 1879
	 (3)	 Jaipur, 1856	
	 (4)	 Bharatpur, 1849
	 13.	 Consider the following statements and choose the 

correct answer using the code given below–
	 	 Statement 1 :	Kr ishnadevaragya ,  ru ler  of 

Vijaynagar wrote the treatise 
Amuktamalyada.

	 	 Statement 2 :	Krishnadevaraya is also known by 
the name of Andhra Bhoj.

		  Statement 3 : Allasani Peddana, the poet laureate 
well versed in Sanskrit and Tamil, 
adorned his court.

		  Code:
	 (1)	 Statement 1 is true	
	 (2)	 Statement 2 is ture
	 (3)	 Both the statement 1 & 2 are true
	 (4)	 All the three statements are true
	 14.	 When and where was the Central Electrochemical 

Research Insitute established with the efforts of 
Alagrappa Chettriar, Dr Shanti Swaroop Bhatnagar 
and Pt. Jawahar Lal Nehru?

	 (1)	 Chennai, 1948	 (2)	 Shivganga, 1953
	 (3)	 Lucknow, 1951	 (4)	 Karaikudi, 1953
	 15.	 Bhatiyani Pratapkunwari, the queen of Jodhpur 

King Mansingh got the temple reconstucted 
elsewhere as the earlier on had caved in. She got 
the temple consecrated in 1857. The name of 
temple is–

	 (1)	 Ghanshyami Temple
	 (2)	 Mahamandir
	 (3)	 Kunj Bihari Temple

	 (4)	 Teeja Manji Temple
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	16.	 Hkkjr NksM+ksa vkanksyu ds nkSjku] dudyrk c:vk uked 
,d dU;k us tutk dk ,d tqywl fudkyk vkSj iqfyl 
dh ijokg u djrs gq, Fkkus esa ?kqlus ds iz;kl esa xksyh 
[kkbZA ;g ?kVuk fdl LFkku dh gS\

	 (1)	 xksgiqj	 (2)	 dksjkiqj

	 (3)	 lksfuriqj	 (4)	 fenukiqj

	17.	 lwph&I ,oa lwph&II dks lqesfyr dhft, rFkk uhps fn;s 
x;s dwV esa ls lgh mÙkj pqfu,µ

		  lwph&I		 lwph&II 

		  (yksd ok| ;a=k)		 (iz[;kr dykdkj)

	 A.	 Hkiax	 (i)	 lnhd [kk¡

	 B.	 uM+	 (ii)	 ”kgwj [kk¡

	 C.	 vyxks”kk	 (iii)	 d.kkZ Hkhy

	 D.	 [kM+rky	 (iv)	 jkeukFk pkS/jh

	 dwV
		  A	 B	 C	 D

	 (1)	 (ii)	 (iii)	 (iv)	 (i)
	 (2)	 (iv)	 (iii)	 (ii)	 (i)
	 (3)	 (i)	 (ii)	 (iii)	 (iv)
	 (4)	 (ii)	 (i)	 (iii)	 (iv)

	18.	 bafM;u bafLVV~;wV vkWiQ lkbUl dh LFkkiuk cSaxyksj esa 
dc vkSj fduds iz;klksa ls gqbZ\

	 (1)	 1911] es?kukn lkgk

	 (2)	 1930] ts- lh- cksl

	 (3)	 1909] te'ksnth VkVk

	 (4)	 1917] iziqQYy pan jk;

	19.	 fuEufyf[kr esa dkSu lk ,d ;qXe lgh lqesfyr ugha gS\

		  iqLrdsa		 ys[kd

	 (A)	 usg rjax	 &	lokbZ izrki¯lg

	 (B)	 ukxne.k	 &	lka;kth >wyk

	 (C)	 j.key NUn	 &	Jh/j O;kl

	 (D)	 Hkk"kk Hkw"k.k	 &	egkjktk tloar ̄lg
	 (1)	 C	 (2)	 D

	 (3)	 B	 (4)	 A

	20.	 lwph&I ,oa lwph&II dks lqesfyr dhft, rFkk uhps fn;s 
x;s dwV esa ls lgh mÙkj pqfu,µ

		  lwph&I		 lwph&II

	 A.	 xkaxjks.k dk ;q¼	 (i)	 1519 bZ-

	 B.	 lkjaxiqj dk ;q¼	 (ii)	 1544 bZ-

	 C.	 lqesy dk ;q¼	 (iii)	 1437 bZ-

	 D.	 lkgsck dk ;q¼	 (iv)	 1541-42 bZ-

	 16.	 During the Quite India Movement, a girl named 
Kanaklata Barua led a public procession and 
defying the police, tried to enter the police station 
but was shot dead. This incident took place at–

	 (1)	 Gohpur	 (2)	 Korapur
	 (3)	 Sonitpur	 (4)	 Midnapur
	 17.	 Match list-I with Iist-II and choose the correct 

answer from the code given below-
		  List-I		  List-II
		  (Folk Musiacal		  (Famous Music 	

Instrument)		  Artist)
	 A.	 Bhapang	 (i)	 Sadiq Khan 
	 B.	 Nad	 (ii)	 Zahoor Khan
	 C.	 Algoza	 (iii)	 Karna Bheel
	 D.	 Khartal	 (iv)	� Ramnath Choudhary
		  Code:
		  A	 B	 C	 D

	 (1)	 (ii)	 (iii)	 (iv)	 (i)

	 (2)	 (iv)	 (iii)	 (ii)	 (i)

	 (3)	 (i)	 (ii)	 (iii)	 (iv)

	 (4)	 (ii)	 (i)	 (iii)	 (iv)

	 18.	 When and with whose efforts was Indian Institute 
of Science established in Bangalor?

	 (1)	 1911, Meghnad Saha
	 (2)	 1930, J. C. Bose
	 (3)	 1909, Jamshed ji Tata
	 (4)	 1917, Prafull Chand Rai
	 19.	 Which one of the following pair in not correctly 

matched?

	 	 Books		  Authors
	 A.	 Neh Tarang	 –	 Sawai Pratap Singh
	 B.	 Nagdaman 	 –	 Sayanji Jhula
	 C.	 Ranmal Chhand	 –	 Shridhar Vyas
	 D.	 Bhasha Bhushan	 –	� Maharaja Jaswant 

Singh
	 (1)	 C	 (2)	 D
	 (3)	 B	 (4)	 A
	 20.	 Match list-I with list-II and choose the correct 

answer from the code given below-

		  List-I		  List-II
	 A.	 The Battle of Gagron	 (i)	 1519 AD
	 B.	 The Battle of	 (ii)	 1544 AD
		  Sarangpur
	 C.	 The Battle of	 (iii)	 1437 AD
		  Summel

	 D.	 The Battle of Saheba	 (iv)	 1541 - 42 AD
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	 dwV
		  A	 B	 C	 D

	 (1)	 (i)	 (iii)	 (ii)	 (iv)
	 (2)	 (iv)	 (iii)	 (ii)	 (i)
	 (3)	 (i)	 (ii)	 (iii)	 (iv)
	 (4)	 (ii)	 (iii)	 (iv)	 (i)

	21.	 ^VksVh* vkHkw"k.k 'kjhj ds fdl fgLls esa iguk tkrk gS\
	 (1)	 ukd	 (2)	 gkFk

	 (3)	 dfV	 (4)	 dku

	22.	 c[kukth] larnkl th] txUukFk nkl vkSj ek/ksnkl uked 
larksa dk laca/ fuEufyf[kr esa ls fdl lEiznk; ds lkFk 
Fkk\

	 (1)	 tlukFkh lEinzk;	 (2)	 jkeLusgh lEiznk;

	 (3)	 nknw iaFk	 (4)	 ykynklh lEiznk;

	23.	 lwph&I ,oa lwph&II dks lqesfyr dhft, rFkk uhps fn;s 
x;s dwV esa ls lgh mÙkj pqfu,µ

		  lwph&I		 lwph&II 

		  (rhFk±dkj)		 (muds laKku)

	 A.	 ik'oZukFk	 (i)	 o`"kHk

	 B.	 vkfnukFk	 (ii)	 ¯lg

	 C.	 egkohj	 (iii)	 liZ

	 D.	 'kkafrukFk	 (iv)	 fgj.k

	 dwV
		  A	 B	 C	 D

	 (1)	 (iii)	 (i)	 (ii)	 (iv)
	 (2)	 (i)	 (ii)	 (iii)	 (iv)
	 (3)	 (ii)	 (iii)	 (iv)	 (i)
	 (4)	 (iv)	 (iii)	 (ii)	 (i)

	24.	 ml Økafrdkjh efgyk dk uke crkb;s ftlus fctkSfy;k 
fdlku vkanksyu esa Hkkx fy;k vksj mls fxjÝrkj fd;k 
x;k rFkk 1930 ds lR;kxzg vkSj 1932 ds lfou; 
voKk vkanksyu esa Hkkx fy;k vkSj tsy xbZµ

	 (1)	 vatuk nsoh pkS/jh	 (2)	 jru 'kkL=kh

	 (3)	 fd'kksjh nsoh	 (4)	 jek nsoh

	25.	 jktLFkku esa dgk¡] ^oSfnd ;a=kky;* Nkik[kkuk LFkkfir 
fd;k x;k Fkk\

	 (1)	 t;iqj 	 (2)	 mn;iqj

	 (3)	 vtesj	 (4)	 tks/iqj

	26.	 lafo/ku esa ewy drZO;ksa dks ftldh fliQkfj'k ij 
lfEefyr fd;k x;k] og gSaµ

	 (1)	 laFkkue lfefr

	 (2)	 iz'kklfud lq/kj vk;ksx

	 (3)	 'kkg vk;ksx

	 (4)	 Lo.kZ ¯lg lfefr

		  Code:
		  A	 B	 C	 D

	 (1)	 (i)	 (iii)	 (ii)	 (iv)
	 (2)	 (iv)	 (iii)	 (ii)	 (i)
	 (3)	 (i)	 (ii)	 (iii)	 (iv)
	 (4)	 (ii)	 (iii)	 (iv)	 (i)
	 21.	 On which part of body 'Toti' ornament is worn?
	 (1)	 Nose	 (2)	 Hand
	 (3)	 Waist	 (4)	 Ears
	 22.	 The Saints named Bakhnaji, Sant Das Ji, Jagannath 

Das and Madho Das were associated with which 
of the following Sect?

	 (1)	 Jasnathi Sect	 (2)	 Ramsnehi Sect
	 (3)	 Dadu Panth	 (4)	 Laldasi Sect
	 23.	 Match list-I with list-II and choose the correct 

answer from the code given below-

	 	 List-I		  List-II
		  (Tirthankara)		  (Their cognition)
	 A.	 Parshvanath	 1.	 Bull
	 B.	 Adinath	 2.	 Lion
	 C.	 Mahaveer	 3.	 Snake

	 D.	 Shantinath	 4.	 Deer
		  Code:
		  A	 B	 C	 D

	 (1)	 (iii)	 (i)	 (ii)	 (iv)
	 (2)	 (i)	 (ii)	 (iii)	 (iv)
	 (3)	 (ii)	 (iii)	 (iv)	 (i)
	 (4)	 (iv)	 (iii)	 (ii)	 (i)
	 24.	 Name the revolutionary woman, who participated 

in the Peasant Movement of Bijoliya and was 
arrested She also participated in 1930 Satyagrah 
and 1932 Civil Disobedience Movement and was 
sentenced to Jail–

	 (1)	 Anjana Devi Chaudhary
	 (2)	 Ratan Shashtri
	 (3)	 Kishori Devi
	 (4)	 Rama Devi
	 25.	 Where in Rajasthan, the printing press 'Vedic 

Yantralaya' was established?
	 (1)	 Jaipur	 (2)	 Udaipur
	 (3)	 Ajmer	 (4)	 Jodhpur
	 26.	 Fundamental Duties were incorporated in the 

Constitution on the recommendation of –
	 (1)	 Santhanam Committee
	 (2)	 Administrative Reforms Commission
	 (3)	 Shah Commission
	 (4)	 Swaran Singh Committee
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	27.	 dFku (1) % fu;a=kd ,oa egkys[kk ijh{kd dk drZO; 
u dsoy O;; dh oS/rk lqfuf'pr djuk gS vfirq 
vkSfpR; Hkh gSA

		 dkj.k (R) % mls foÙkh; iz'kklu ds {ks=k esa lafo/ku 
vkSj laln ds dkuwuksa dks cuk, j[kuk gSA

	 (1)	 (A) xyr gS ysfdu (R) lgh gSA 

	 (2)	 (A) vkSj (R) nksuksa lgh gSa ,oa (R), (A) dh 
lgh O;k[;k gS

	 (3)	 (A) lgh gS ysfdu (R) xyr gS

	 (4)	 (A) vkSj (R) nksuksa lgh gSa ¯drq (R), (A) dh 
lgh O;k[;k ugha gS

	28.	 lwpuk ds vf/dkj vf/fu;e ds mís';ksa ds laca/ esa 
fuEufyf[kr esa ls dkSu lk lgh ugha gS\

	 (1)	 ukxfjdksa dks l'kDr djuk

	 (2)	 ljdkj ds dk;Zdj.k esa ikjn£'krk ,oa mÙkjnkf;Ro 
dks c<+kuk

	 (3)	 lekt dh efgykvksa ,oa de”kksj rcdksa (oxk±s) 
dks l'kDr djus ds fy;s dke djuk

	 (4)	 gekjs yksdra=k dks ,slk cukuk rkfd og okLro 
esa yksxksa ds fy;s dke djsa

	29.	 ^jktLFkku fo/kulHkk ds izfØ;k rFkk dk;Z lapkyu 
laca/h fu;eksa* ds vuqlkj fuEukafdr esa ls dkSu ls foHkkx 
ds izkDdyu] izkDdyu lfefr ̂ d* ds fu;a=k.kk/hu ugha 
gS\

	 (1)	 lkoZtfud fuekZ.k foHkkx	

	 (2)	 x`g foHkkx

	 (3)	 foÙk foHkkx

	 (4)	 f'k{kk foHkkx

	30.	 jktLFkku mPp U;k;ky; ds fuEukafdr U;k;k/h'kksa esa ls 
dkSu jktLFkku ljdkj esa jkT;ea=kh ds in ij vklhu 
jgs gSa\

	 (1)	 tfLVl lwjt ukjk;.k MhMokfu;k

	 (2)	 tfLVl iQk:[+k glu

	 (3)	 tfLVl eksgEen ;kehu

	 (4)	 tfLVl ;knjke eh.kk

	31.	 Hkkjr ds lafo/ku ds vuqPNsn 103 ds rgr] jk"Vªifr 
yksdlHkk lnL;ksa dh fujgZrkvksa ls lacaf/r fdlh Hkh 
iz'u ij dksbZ fu.kZ; nsus ls iwoZ fuEukafdr esa ls fdldh 
jk; ysxk\

	 (1)	 mPpre U;k;ky;

	 (2)	 fuokZpu vk;ksx

	 (3)	 egkU;k;oknh

	 (4)	 yksdlHkkè;{k

	 27.	 Assertion (A) : The Duty of Comptroller and 
Auditor General is not merely to ensure the legality 
of expenditure but also its propriety.

		  Reason (R) : He has to uphold the Constitution 
and the Laws of Parliament in the field of financial 
administration. 

	 (1)	 (A) is false but (R) is true
	 (2)	 Both (A) and (R) are true and (R) is the 

correct explanation of (A)
	 (3)	 (A) is true but (R) is false
	 (4)	 Both (A) and (R) are true but (R) is not a 

correct explanation of (A)
	 28.	 Which of the following is not true abot the 

objectives of the Right of Information Act?
	 (1)	 To empower citizens
	 (2)	 To promote transparency and accountability 

in the working of the government
	 (3)	 To empower the women and weaker sections 

of the society
	 (4)	 To make our democracy work for the people 

in real sense
	 29.	 According to the 'Rules of Procedure and Conduct 

of Business in Rajasthan Legislative Assembly', 
which of the following department's estimates do 
not comes under the control of Estimates 
Committee 'A'?

	 (1)	 Public Works Department
	 (2)	 Home Department
	 (3)	 Finance Department	
	 (4)	 Education Department
	 30.	 Who among the following Judges of Rajasthan 

High Court has held the office of State Minister in 
Government of Rajasthan?

	 (1)	 Justice Suraj Narayan Didwania
	 (2)	 Justice Farooq Hassan
	 (3)	 Justice Mohammad Yamin
	 (4)	 Justice Yad Ram Meena
	 31.	 Under Article 103 of the Constitution of India, the 

President shall obtain the opinion of which of the 
following authority before giving any decision on 
question regarding the disqualification of the 
members of the Lok Sabha?

	 (1)	 Supreme Court
	 (2)	 Election Commission
	 (3)	 Attorney General
	 (4)	 Speaker of the Lok Sabha
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	32.	 jktLFkku ds fuEukafdr eq[;eaf=k;ksa esa ls dkSu yksd lHkk 
ds lnL; ugha jgs gSa\

	 (A)	 gfjnso tks'kh	 (B)	 HkSjksa ¯lg 'ks[kkor

	 (C)	 Vhdkjke ikyhoky	 (D)	 cjdrqYykg [kku

		 lgh mÙkj gSµ
	 (1)	 dsoy (B), (C) vkSj (D)	

	 (2)	 (A), (B), (C) vkSj (D)

	 (3)	 dsoy (A), (B) vkSj (D)	

	 (4)	 dsoy (A) vkSj (B)

	33.	 fo'kk[kk o vU; cuke jktLFkku jkT; o vU; eqdnek 
lacafèkr gSµ

	 (1)	 dkedkth efgykvksa ds ekr`Ro vodk'k ls

	 (2)	 efgykvksa dh rcknyk uhfr ls

	 (3)	 lekt esa O;kIr ngst izFkk ds izpyu dh jksdFkke 
ls

	 (4)	 dk;ZLFky ij efgykvksa ds ;kSu mRihM+u dh 
jksdFkke ls

	34.	 eq[;ea=kh fpjathoh LokLF; chek ;kstuk dh dkSu&lh 
fo'ks"krk xyr gS\

	 (1)	 ;kstuk ds varxZr fofHkUu chekfj;ksa ds 1576 
izdkj ds iSdstsl ,oa izkslhtlZ miyC/ gSaA

	 (2)	 bl ;kstuk ds varxZr xaHkhj chekfj;ksa gsrq 4.50 
yk[k ` dh jkf'k dk chek doj izfro"kZ izfr 
ifjokj ns; gSA

	 (3)	 ejht ftl chekjh ds fy;s vLirky esa HkrhZ 
gksrk gS] mlds 5 fnu igys ,oa fMLpktZ ds 10 
fnu ckn rd vLirky esa dh xbZ tk¡pksa] nokbZ;ksa 
,oa ijke'kZ 'kqYd dk O;; iSdst dh jkf'k esa 
lfEefyr gSA	

	 (4)	 bldh 'kq#vkr 1 ebZ] 2021 ls dh xbZA

	35.	 jk"Vªh; U;kf;d fu;qfDr vk;ksx ls lacaf/r dkSu ls 
lafo/ku la'kks/u vf/fu;e dks mPpre U;k;ky; dh 
lafo/ku ihB us vlaoS/kfud ?kksf"kr dj fn;k Fkk\

	 (1)	 98ok¡ lafo/ku la'kks/u vf/fu;e

	 (2)	 99ok¡ lafo/ku la'kks/u vf/fu;e

	 (3)	 97ok¡ lafo/ku la'kks/u vf/fu;e

	 (4)	 100ok¡ lafo/ku la'kks/u vf/fu;e

	36.	 jktLFkku yksd lsok vk;ksx vius dk;k±s dk ok£"kd 
izfrosnu izLrqr djrk gSµ

	 (1)	 jk"Vªifr ds le{k	

	 (2)	 fo/kulHkk vè;{k ds le{k

	 (3)	 jkT;iky ds le{k	

	 (4)	 eq[; lfpo ds le{k

	 32.	 Which of the following Chief Ministers of 
Rajasthan have not been the member of Lok Sabha? 

	 A. 	 Hari Dev Joshi
	 B. 	 Bhairon Singh Shekhawat
	 C. 	 Tika Ram Paliwal
	 D. 	 Barkatullah Khan
		  Correct answer is —
	 (1) 	 Only (B), (C) and (D)
	 (2)	 (A), (B), (C) and (D) 
	 (3)	 Only (A), (B) and (D)
	 (4)	 Only (A) and (B)
	 33.	 The case of Vishakha and others Vs. State of 

Rajasthan and others is related to–
	 (1)	 Maternity leave in respect of working 

women
	 (2)	 Transfer policy for women
	 (3)	 Prevention of the practice of dowry prevalent 

in the society
	 (4)	 Prevention of sexual harassment of women 

at work place
	 34.	 Which feature of Chief Minister Chiranjeevi Health 

Insurance Scheme is incorrect?
	 (1)	 Under the scheme for different ailments 1576 

types of packages and procedures will be 
available.

	 (2)	 Under this scheme an insurance cover of ` 
4.50 Lakhs is payable per year per family 
for serious ailments.

	 (3)	 The disease for which a patiesnt is admitted 
to a hospital, 5 days prior to that and 10 days 
after the discharge from the hospital all 
expenditure on investigation, medicines and 
consultation fee in the hospital will be 
included in the package.

	 (4)	 It was started on May 1, 2021
	 35.	 Which Constitutional Amendment, Act dealing 

with Natioanl Judicial Appointments Commission, 
was declared unconstitutional by the Constitution 
Bench of the Supreme Court?

	 (1)	 98th Constitutional Amendment Act
	 (2)	 99th Constitutional Amendment Act
	 (3)	 97th Constitutional Amendment Act
	 (4)	 100th Constututional Amendment Act
	 36.	 Rajasthan Public Service Commission presents its 

annual report to–
	 (1)	 The President of India 
	 (2)	 Chairperson of the Vidhan Sabha
	 (3)	 The Governor of Rajasthan
	 (4)	 Chief Secretory
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	37.	 fuEukafdr esa ls dkSu jktLFkku jkT; ekuo vf/dkj 
vk;ksx ds vè;{k in ij fu;qfDr gsrq vf/Ñr gS\

	 (1)	 izeq[k lekt lsoh O;fDr

	 (2)	 iqfyl egkfuns'kd Lrj ij vf/dkjh

	 (3)	 eq[; lfpo Lrj ij vf/dkjh

	 (4)	 mPp U;k;ky; dk eq[; U;k;k/h'k

	38.	 fuEufyf[kr esa ls fdlus dgk Fkk] ¶,d lafo/ku ,d 
e'khu dh rjg cstku ph”k gS] blesa os yksx thou 
iwQadrs gSa tks bldk fu;a=k.k djrs gSa] Hkkjr esa cl dqN 
bZekunkj yksxksa dh vko';drk gS ftuds fy;s jk"Vªfgr 
dh loksZifj gS¸\

	 (1)	 MkW- jktsUnz izlkn	
	 (2)	 MkW- ch- vkj- vEcsMdj

	 (3)	 egkRek xka/h	
	 (4)	 tokgj yky usg:

	39.	 fuEufyf[kr esa ls ukxfjd vf/dkj i=k ds ewy rRo esa 
dkSu lfEefyr ugha gS\

	 (1)	 lsokvksa dk ykHk mBkus ds fy;s fofHkUu fof/;ksa 
dks izpkfjr djuk

	 (2)	 vfHkdj.k ds dk;Z ds fujh{k.k dk izko/ku

	 (3)	 foHkkx vFkok vfHkdj.k }kjk iznku dh tk jgh 
lsokvksa dk fooj.k

	 (4)	 fdlh yksd vfHkys[k dh vis{kk

	40.	 Hkkjr ds mPpre U;k;ky; ds eq[; U;k;ew£r dk lgh 
Øe gSµ

	 (1)	 ,p-,y- nÙkq] Vh-,l- Bkdqj] txnh'k ¯lg [ksgj

	 (2)	 ch-ih- flUgk] ih-ch- xtsUnzxMdj] ,l-vkj- nkl

	 (3)	 jatu xksxksbZ] ,u- oh- je.k] nhid feJk

	 (4)	 ds- th- ckyÑ".ku] ,l-,p- dkikfM+;k] ,p-,y-
nÙkq

	41.	 xq#eq[k fugky ¯lg dks jktLFkku dk izFke jkT;iky 
fu;qDr fd;k x;k Fkkµ

	 (1)	 2 uoEcj] 1956 dks	
	 (2)	 26 vDrwcj] 1956 dks

	 (3)	 1 uoEcj] 1956 dks	

	 (4)	 25 vDrwcj] 1956 dks

	42.	 jktLFkku ljdkj }kjk vHkh gky esa] ?kksf"kr ^mM+ku* 
;kstuk dh xyr fo'ks"krk fpfÉr dhft,µ

	 (1)	 bl ;kstuk dk mís'; efgykvksa dks csgrj LokLF; 
vkSj O;fDrxr 'kkjhfjd LoPNrk ds izfr tkx:d 
cukuk gS

	 (2)	 ;kstuk ds izHkkoh fØ;kUo;u ds fy;s jkT; Lrj 
ij nks vkSj f”kyk Lrj ij ,d czkaM ,EcslsMj 
cuk, tk;saxs

	 37.	 Who among the following is eligible to be 
appointed as the Chairperson of Rajasthan State 
Human Rights Commission?

	 (1)	 Prominent Social Activist 
	  (2)	 Director General of Police Level Officer
	 (3)	 Chief Secretary Level Officer
	 (4)	 Chief Justice of High Court
	 38.	 Which one of the following said, "A Constitution, 

like a machine, is a lifeless thing. It acquires life 
because of the men who control it and India needs 
today nothing more than a set of honest men who 
will have the interest of the country before them"? 

	 (1)	 Dr. Rajendra Prasad 	
	 (2)	 Dr. B. R. Ambedkar 
	 (3)	 Mahatma Gandhi	
	 (4)	 Jawahar Lal Nehru 
	 39.	 Which one of the following is not basic element 

of the citizen charter? 
	 (1)	 Promotion of various methods to' get benefit 

from the services available
	 (2)	 Provision for the inspection of the agency's 

work
	 (3)	 Description of services being provided by 

department or the agency
	 (4)	 To expect any public record.
	 40.	 The correct sequence of Chief Justice of Supreme 

Court of India is–
	 (1)	 H.L. pattu, T.S. Thakur, Jagdish Singh 

Khehar 
	 (2)	 B.P. Sinha, P.B. Gajendragadkar, .S.R. Das
	 (3)	 Ranjan Gogoi, N.V. Raman, Deepak Mishra
	 (4)	 K. G. Balakrishanan, S.H. Kapadia, H.L. 

Dattu
	 41.	 Gurumukh Nihal Singh was appointed as the first 

Governor of Rajasthan on –
	 (1)	 2nd November, 1956	
	 (2)	 26th October, 1956
	 (3)	 1st November, 1956	
	 (4)	 25th October, 1956
	 42.	 Identify the incorrect feature of the recently 

declared 'UDAN' scheme of the Government of 
Rajasthan–

	 (1)	 The scheme aims to make women aware 
about better health and individual physical 
hygiene

	 (2)	 For effective implementation of the scheme 
2 Brand Ambassadors at state level and 1 at 
district level will be engaged
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	 (3)	 bl ;kstuk ds varxZr izns'k dh lHkh efgykvksa 
dks 19 uoEcj] 2021 ls lsusVjh uSifdu fu%'kqYd 
feysaxs

	 (4)	 ;g ;kstuk 19 uoEcj] 2021 ls ykxw gksxh 

	43.	 lwph&I dk lwph&II ls feyku dhft, vkSj uhps fn, 
x, dwV esa ls lgh mÙkj dk p;u dhft,µ

		 lwph&I	 lwph&II 
		  lafo/ku lHkk lfefr	 vè;{k
	 A.	 ewy vf/dkj	 (i)	 ch- vkj- vEcsMdj

	 B.	 dk;Z lapkyu	 (ii)	 tokgjyky usg:

	 C.	 la?k 'kfDr	 (iii)	 ds- ,e- eqa'kh

	 D.	 izk:i	 (iv)	 ljnkj iVsy

	 dwV
		  A	 B	 C	 D

	 (1)	 (ii)	 (iii)	 (iv)	 (i)

	 (2)	 (ii)	 (iv)	 (iii)	 (i)

	 (3)	 (iii)	 (iv)	 (ii)	 (i)

	 (4)	 (iv)	 (iii)	 (ii)	 (i)

	44.	 Hkkjr ds lafo/ku esa o£.kr uhfr funs'kd rRoksa dk 
lqesfyr ;qXe igpkfu,µ

	 (1)	 leku U;k; vkSj fu%'kqYd fof/d lgk;rk&vuqPNsn 
42

	 (2)	 iq:"kksa vkSj fL=k;ksa nksuksa dk leku dk;Z ds fy;s 
leku osru gks & vuqPNsn 39

	 (3)	 xzke iapk;rksa dk laxBu & vuqPNsn 41

	 (4)	 Ñf"k vkSj i'kqikyu dk laxBu & vuqPNsn 43

	45.	 jkT; fo/ku ifj"kn~ ds mRlknu ds fy;s jkT; fo/kulHkk 
}kjk lafo/ku ds vuqPNsn 169 ds varxZr LohÑr ladYi 
ds ckjs esa fuEukafdr esa ls dkSu&lk dFku lgh gS\

	 (1)	 jkT;iky ij dksbZ ckè;rk vf/jksfir ugha djrk 
gS fd og ladYi dks jk"Vªifr ds fopkj gsrq 
vkjf{kr djsaA

	 (2)	 dsUnz ljdkj ij ckè;rk vf/jksfir djrk gS fd 
og laln esa fof/ fuekZ.k gsrq dk;Zokgh djsaA

	 (3)	 jkT;iky ij ckè;rk vf/jksfir djrk gS fd og 
ladYi dks jk"Vªifr ds fopkj gsrq vkjf{kr djsaA

	 (4)	 dsUnz ljdkj ij dksbZ ckè;rk vf/jksfir ugha 
djrk gS fd og laln esa fof/ fuekZ.k gsrq 
dk;Zokgh djsaA

	46.	 jktLFkku uxjikfydk vf/fu;e] 2009 ds izko/kuksa ds 
vuqlkj] jkT; ljdkj }kjk uxj ifj"kn~ esa vf/dre 
fdrus O;fDr uke fu£n"V fd;s tk ldrs gSa\

	 (1)	 6	 (2)	 8
	 (3)	 10	 (4)	 12

	 (3)	 Under this scheme all women in the state 
will get free sanitary napkins from 19th 
November, 2021

	 (4)	 The scheme will come into opetation from 
19th November, 2021

	 43.	 Match list-I with Iist-II and choose the correct 
answer from the code given below-

	 	 List-I		  List-II
		  Constituent Assembly		 Chairman
		  Committee
	 A.	 Fundamental Rights	 (i)	 B.R. Ambedkar
	 B.	 Steering	 (ii)	 Jawahar Lal Nehru
	 C.	 Union Powers	 (iii)	 K. M. Munshi

	 D.	 Drafting	 (iv)	 Sardar Patel
		  Code-
		  A	 B	 C	 D

	 (1)	 (ii)	 (iii)	 (iv)	 (i)

	 (2)	 (ii)	 (iv)	 (iii)	 (i)

	 (3)	 (iii)	 (iv)	 (ii)	 (i)

	 (4)	 (iv)	 (iii)	 (ii)	 (i)

	 44.	 Identify the correct pair mentioning the Directive 
Principles of State Policy in the Constitution of India- 

	 (1)	 Equal justice and free legal aid - Article 42
	 (2)	 That there is equal pay for equal work for 

both men and women - Article 39
	 (3)	 Organisation of village Panchayat - Artide 41
	 (4)	 Organisation of, agriculture and animal 

husbandry-Article 43
	 45.	 Which of the following statement about resolution 

adopted by a State Legislative Assembly under 
Article 169 of the Constitution of India for the 
abolition of the State Legislative Council is 
correct?

	 (1)	 It does not impose an obligation on the 
Governor 	to reserve resolution for the 
consideration of the President.

	 (2)	 It does impose an obligation on the Union 
Government to take action for initiating 
legislation in Parliament.

	 (3)	 It does impose an obligation on the Governor 
to reserve resolution for the consideration 
of the President.

	 (4)	 It does not impose an obligation on the Union 
Government to take action for initiating 
legislative in Parliament.

	 46.	 According to the provisions of the Rajasthan 
Municipal Act, 2009, maximum number of persons 
that can be nominated by the State Government in 
Municipal Council is-

	 (1)	 6	 (2)	 8
	 (3)	 10	 (4)	 12
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	47.	 jkT; fuokZpu vk;ksx] jktLFkku ls lacaf/r fuEukafdr 
dFkuksa ij fopkj dhft,µ

	 (i)	 jkT; fuokZpu vk;ksx] jktLFkku dk xBu fnlEcj] 
1994 esa gqvkA

	 (ii)	 bldk ,d lfpo gksrk gS tks jkT; dk eq[; 
fuokZpu vfèkdkjh Hkh gksrk gSA

		 dwV%

	 (1)	 dsoy (i) lgh gS	

	 (2)	 dsoy (ii) lgh gS

	 (3)	 (i) vkSj (ii) nksuksa lgh gSa	

	 (4)	 u rks (i) vkSj uk gh (ii) lgh gS

	48.	 jktLFkku esa yksdk;qDr esa laca/ esa fuEufyf[kr esa ls 
dkSu ls dFku lgh gSa\

	 (A)	 og jkT;iky }kjk fu;qDr ,oa fo/kulHkk ds izfr 
mÙkjnk;h gksrk gSA

	 (B)	 mldk {ks=kkf/dkj eaf=k;ksa] jkT; fo/kulHkk ds 
lnL;ksa ,oa mPp yksd lsodksa rd iSQyk gSA

	 (C)	 og Hkz"Vkpkj ,oa dq&iz'kklu ds ekeyksa ij fopkj 
djrk gSA

	 (D)	 mldk dk;Z vkjksiksa dh tk¡p djuk gS] u fd 
f'kdk;rksa dhA

		 dwV%

	 (1)	 (A) ,oa (C)	 (2)	 (A), (B) ,oa (C)

	 (3)	 (A) vkSj (D)	 (4)	 (A), (B), (C) ,oa (D) 

	49.	 jktLFkku iapk;rh jkt vf/fu;e] 1994 dh fdl /kjk 
dks la'kksfèkr dj ̂ xzke lsod* ds LFkku ij ̂ xzke fodkl 
vf/dkjh* vfHkO;fDr dks izfrLFkkfir fd;k x;k gS\

	 (1)	 88	 (2)	 89
	 (3)	 91	 (4)	 90

	50.	 jktLFkku iz'kklfud lsok vf/dkfj;ksa dks igyh ckj 
f”kyk dysDVj ds :i esa inLFkkiuk fuEukafdr esa ls 
fdl o"kZ dh xbZ Fkh\

	 (1)	 2009	 (2)	 2013
	 (3)	 2018	 (4)	 2021

	51.	 2011 dh tux.kuk ds vuqlkj] jktLFkku ds dkSu ls 
f”kyksa esa xzkeh.k vkSj uxjh; ¯yxkuqikr lokZf/d gS\

	 	 xzkeh.k ¯yxkuqikr	 &	uxjh; ¯yxkuqikr

	 (A)	 jktleUn	 &	ckalokM+k

	 (B)	 Mwaxjiqj	 &	Vksad

	 (C)	 ikyh	 &	pw:

	 (D)	 tkykSj	 &	ukxkSj
	 (1)	 D	 (2)	 A
	 (3)	 B	 (4)	 C

	 47.	 Consider the following statements regarding State 
Election Commission, Rajasthan–

	 (i)	 The State Election Commission, Rajasthan 
was constituted in December, 1994.

	 (ii) 	 It has a Secretary who is also the Chief 
Electoral Officer for the state.

		  Code:
	 (1)	 Only (i) is correct
	 (2)	 Only (ii) is correct
	 (3)	 Both (i) and (ii) are correct
	 (4)	 Neither (i) nor (ii) is correct
	 48.	 Which of the following statements are correct 

about Lokayukta in Rajasthan?
	 (A)	 He is appointed by the Governor and is 

responsible to the Legislative Assembly.
	 (B)	 His jurisdiction spans over Ministers, 

members of State Legislative Assembly and 
higher Civil Servants.

	 (C)	 He considers the cases of corruption and 
mal-administration.

	 (D)	 His job is confined to investigate allegations 
and not grievances.

	 	Code:
	 (1)	 (A) and (C)
	 (2)	 (A), (B) and (C)
	 (3)	 (A) and (D)
	 (4)	 (A), (B), (C) and (D) 
	 49.	 Which Section of the Rajasthan Panchayati Raj 

Act, 1994 has been amended to replace the 
expression 'Gram Vikas Adhikari' in place of 'Gram 
Sevak'?

	 (1)	 88	 (2)	 89
	 (3)	 91	 (4)	 90
	 50.	 In which of the following year, for the first time 

Rajasthan Administrative Service Officers were 
posted as District Collector?

	 (1)	 2009	 (2)	 2013
	 (3)	 2018	 (4)	 2021
	 51.	 According to 2011 census, the districts having 

highest rural and urban sex ratio in Rajasthan are- 
		  Rural Sex Ratio 	 -	 Urban Sex Ratio
	 (A)	 Rajsamand	 - 	Banswara
	 (B)	 Dungarpur	 -	 Tonk
	 (C)	 Pali	 -	  Churu

	 (D)	 Jalore	 - 	Nagaur
	 (1)	 D	 (2)	 A

	 (3)	 B	 (4)	 C
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	52.	 fuEu esa ls dkSu&lk lgh lqesfyr gS\
	 (1)	 vHkzd & rkypsj

	 (2)	 eSaxuht & cSykMhyk

	 (3)	 yksgk & dksMjek

	 (4)	 ckWDlkbV & yksgjnxk

	53.	 lwph&I ,oa lwph&II dks lqesfyr dhft, rFkk uhps fn;s 
x;s dwV esa ls lgh mÙkj pqfu,µ

		  lwph&I		 lwph&II 

		  (LFkykÑfr)		 (egk}hi)

	 A.	 ,dkadkxqvk	 (i)	 vkLVªsfy;k

	 B.	 eslsVk	 (ii)	 vizQhdk

	 C.	 lsjsuxsVh eSnku	 (iii)	 ;wjksi

	 D.	 fxClu Ms”kVZ	 (iv)	 nf{k.kh vesfjdk

	 dwV
		  A	 B	 C	 D

	 (1)	 (iv)	 (ii)	 (iii)	 (i)

	 (2)	 (iii)	 (ii)	 (iv)	 (i)

	 (3)	 (ii)	 (iv)	 (i)	 (iii)

	 (4)	 (iv)	 (iii)	 (ii)	 (i)

	54.	 lwph&I dks lwph&II lss lqesfyr dhft, rFkk lgh mÙkj 
dk p;u uhps fn;s dwV esa ls dhft,µ

		  lwph&I		 lwph&II 

		  (i;ZVd LFky)		 (fLFkfr)

	 A.	 ykyx<+	 (i)	 >kykokM+

	 B.	 f=kiqj lqUnjh	 (ii)	 ckM+esj

	 C.	 xkxjksu fdyk	 (iii)	 chdkusj

	 D.	 ukdksM+k	 (iv)	 ckalokM+k

	 dwV
		  A	 B	 C	 D

	 (1)	 (iii)	 (iv)	 (i)	 (ii)

	 (2)	 (iv)	 (iii)	 (ii)	 (i)

	 (3)	 (iii)	 (ii)	 (i)	 (iv)

	 (4)	 (ii)	 (i)	 (iv)	 (iii)

	55.	 fuEufyf[kr fo'ks"krk,¡ fdl unh dh gSa\
	 &	 bldk mn~xe dqaHkyx<+ fdys ds fudV vjkoyh 

igkfM+;ksa ls gSA

	 &	 ;g unh esokM+ ds eSnku ds eè; ls xqtjrh gSA 

	 &	 csMp] dksBkjh o eksjsy bldh lgk;d ufn;k¡ gSaA

	 (1)	 pEcy	 (2)	 ekgh

	 (3)	 cukl	 (4)	 ywuh

	56.	 fuEu esa ls dkSu mÙkj&nf{k.k xfy;kjs ij fLFkr gS\
	 (1)	 y[kumQ	 (2)	 dkuiqj

	 (3)	 dksVk	 (4)	 vkxjk

	 52.	 Which among the following is correctly matched?
	 (1)	 Mica - Talcher
	 (2)	 Manganese - Bailadila
	 (3)	 Iron - Koderma
	 (4)	 Bauxite - Lohardaga
	 53.	 Match list-I with list-II and choose the correct 

answer from code given below-
		  List-I		  List-II
		  (Landform)		  (Continent)
	 A.	 Aconcagua	 (i)	 Australia
	 B.	 Meseta	 (ii)	 Africa
	 C.	 Serengeti Plains	 (iii)	 Europe

	 D.	 Gibson desert	 (iv)	 South Americ
		  Code-
		  A	 B	 C	 D

	 (1)	 (iv)	 (ii)	 (iii)	 (i)

	 (2)	 (iii)	 (ii)	 (iv)	 (i)

	 (3)	 (ii)	 (iv)	 (i)	 (iii)

	 (4)	 (iv)	 (iii)	 (ii)	 (i)

	 54.	 Match list-I with Iist-II and select the correct 
answer using code given below-

		  List-I		  List-II
		  (Tourist Centre)		  (Location)
	 A.	 Lalgarh	 (i)	 Jhalawar
	 B.	 Tripura Sundari	 (ii)	 Barmer
	 C.	 Gagron Fort	 (iii)	 Bikaner

	 D.	 Nakoda	 (iv)	 Banswara
		  Code-
		  A	 B	 C	 D

	 (1)	 (iii)	 (iv)	 (i)	 (ii)

	 (2)	 (iv)	 (iii)	 (ii)	 (i)

	 (3)	 (iii)	 (ii)	 (i)	 (iv)

	 (4)	 (ii)	 (i)	 (iv)	 (iii)

	 55.	 The following characteristics are of which river?
	 -	 Originates from the Aravalis near the Fort 

Kumbhalgarh.
	 -	 Flows through the Mewar Plain.
	 -	 Bedach, Kothari and Morel are its tributaries. 
	 (1)	 Chambal	 (2)	 Mahi
	 (3)	 Banas	 (4)	 Luni
	 56.	 Which among the following is situated on North-

South corridor?
	 (1)	 Lucknow	 (2)	 Kanpur
	 (3)	 Kota	 (4)	 Agra

12



	57.	 fuEu esa ls dkSu lk lgh lqesfyr gS\

	 (A)	 ekaMks&dh&iky	 &	isQYlikj

	 (B)	 ryokM+k	 &	lhlk ,oa tLrk

	 (C)	 [ksjokM+k	 &	,LcsLVl

	 (D)	 ½"kHknso	 &	vHkzd
	 (1)	 A	 (2)	 C
	 (3)	 B	 (4)	 D

	58.	 jktLFkku esa vuqlwfpr tutkfr tula[;k dk f}rh; 
LFkku ij lokZf/d izfr'kr gS (2011)

	 (1)	 nkSlk f”kys esa	 (2)	 izrkix<+ f”kys esa

	 (3)	 ckalokM+k f”kys esa	 (4)	 Mwaxjiqj f”kys esa

	59.	 fuEu esa ls fdl f”kys esa] mi&m".k ioZrh; ou ik, 
tkrs gSa\

	 (1)	 fljksgh 	 (2)	 >kykokM+

	 (3)	 ckalokM+k	 (4)	 mn;iqj

	60.	 lwph&I dk lwph&II lss lqesfyr dhft, rFkk uhps fn;s 
x, dwV esa ls lgh mÙkj pqfu,µ

		  lwph&I		 lwph&II 

		  (unh)		 (lgk;d unh)

	 A.	 xksnkojh	 (i)	 Hkokuh

	 B.	 egkunh	 (ii)	 isuxaxk

	 C.	 nkeksnj	 (iii)	 f'koukFk

	 D.	 dkosjh	 (iv)	 ckjkdj

	 dwV
		  A	 B	 C	 D

	 (1)	 (iii)	 (i)	 (ii)	 (iv)

	 (2)	 (iv)	 (ii)	 (i)	 (iii)

	 (3)	 (ii)	 (iii)	 (iv)	 (i)

	 (4)	 (i)	 (ii)	 (iv)	 (iii)

	61.	 dksisu ds tyok;q oxhZdj.k ds vuqlkj fuEu esa ls dkSu 
ls lgh lqesfyr gSa\

	 A.	 Cwg 	 &	Hkjriqj

	 B.	 Bwhw	 &	ckM+esaj

	 C.	 Bshw	 &	xaxkuxj

	 D.	 Aw	 &	Mwaxjiqj

	 (1)	 (B) ,oa (C)

	 (2)	 (A), (C) ,oa (D)

	 (3)	 (B), (C) ,oa (D)

	 (4)	 (A) ,oa (D)

	62.	 xksxsyko lajf{kr {ks=k fdl f”kys esa fLFkr gS\

	 (1)	 ukxkSj	 (2)	 tkykSj

	 (3)	 ikyh	 (4)	 pw:

	 57.	 Which among the following is correctly matched?
	 (A)	 Mando-ki-pal	 - 	Feldspar
	 (B) 	 Talwara	 -	 Lead and Zinc
	 (C)	 Kherwara	 -	 Asbestos

	 (D)	 Rishabhdev	 -	 Mica
	 (1)	 A	 (2)	 C
	 (3)	 B	 (4)	 D
	 58.	 The second highest percentage of Scheduled tribe 

populaiton in Rajasthan is found in (2011)–
	 (1)	 Dausa District	
	 (2)	 Pratapgarh District
	 (3)	 Banswara District
	 (4)	 Dungarpur District
	 59.	 In which among the following district, sub tropical 

hilly forests are found?
	 (1)	 Sirohi 	 (2)	 Jhalawar
	 (3)	 Banswara	 (4)	 Udaipur
	 60.	 Match list-I with list-II and choose the correct 

answer from the code given below -
	 	 List-I		  List-II 
		  (River) 		  (Tributary)
	 A.	 Godavari	 (i)	 Bhavani
	 B.	 Mahanadi 	  (ii)	 Penganga
	 C.	 Damodar 	  (iii)	 Seonath

	 D.	 Kaveri	 (iv)	 Barakar 
		  Code-
		  A	 B	 C	 D

	 (1)	 (iii)	 (i)	 (ii)	 (iv)

	 (2)	 (iv)	 (ii)	 (i)	 (iii)

	 (3)	 (ii)	 (iii)	 (iv)	 (i)

	 (4)	 (i)	 (ii)	 (iv)	 (iii)

	 61.	 As per Koeppen's climate classification, which 
among the following are correctly matched?

	 A.	 Cwg	 -	 Bharatpur
	 B.	 Bwhw	 -	 Barmer
	 C.	 Bshw	 -	 Ganganagar

	 D.	 Aw	 -	 Dungarpur
	 (1)	 (B) and (C)
	 (2)	 (A), (C) and (D)
	 (3)	 (B), (C) and (D)

	 (4)	 (A) and (D)
	 62.	 Gogelav Conservation Reserve is situated in which 

district?
	 (1)	 Nagaur 	 (2)	 Jalore
	 (3)	  Pali	 (4)	 Churu

13



	63.	 ^xzhu ,uthZ dkWjhMksj* jktLFkku ds fuEufyf[kr esa ls 
fdu f”kyksa ls xqtjsxk\

	 (1)	 mn;iqj] HkhyokM+k] t;iqj	

	 (2)	 dksVk] vtesj] tks/iqj

	 (3)	 tks/iqj] t;iqj] vyoj	

	 (4)	 vtesj] fpÙkkSM+x<+] chdkusj

	64.	 lwph&I ,oa lwph&II dks lqesfyr dhft, rFkk uhps fn;s 
x, dwV esa ls lgh mÙkj pqfu,µ

		  lwph&I		 lwph&II 

		  (f”kyk)		 (izeq[k m|ksx)

	 A.	 mn;iqj	 (i)	 lisQn lhesUV

	 B.	 ukxkSj	 (ii)	 jlk;u

	 C.	 HkhyokM+k	 (iii)	 oL=k m|ksx

	 D.	 dksVk	 (iv)	 lhlk ,oa tLrk

	 dwV
		  A	 B	 C	 D

	 (1)	 (i)	 (ii)	 (iv)	 (iii)

	 (2)	 (iii)	 (i)	 (ii)	 (iv)

	 (3)	 (iv)	 (ii)	 (i)	 (iii)

	 (4)	 (iv)	 (i)	 (iii)	 (ii)

	65.	 fuEu esa ls dkSu lk ,d lgh lqesfyr ugha gS\

	 (1)	 vU'kklu & yksgk ,oa bLikr

	 (2)	 ;ksdksgkek & tyiksr fuekZ.k

	 (3)	 MsVªkW;V & vkWVkseksckby

	 (4)	 xksjuk;k 'kksfj;k & lwrh oL=k

	66.	 fuEu esa ls Fkkj e#LFky ds Hkkx gSa\

	 A.	 xksM+okM+ izns'k	 B.	'ks[kkokVh izns'k

	 C.	 cukl dk eSnku	 D.	?kXxj dk eSnku

	 (1)	 (A), (B) ,oa (D)	 (2)	 (A), (C) ,oa (D)

	 (3)	 (B) ,oa (C)	 (4)	 (A) ,oa (B)

	67.	 dkSu ls o"kZ esa jktLFkku lkSj mQtkZ uhfr ?kksf"kr dh xbZ 
Fkh\

	 (1)	 2019	 (2)	 2017

	 (3)	 2015	 (4)	 2018

	68.	 fuEu esa ls dkSu lk lgh lqesfyr ugha gS\

		  >hy		 ns'k

	 A.	 ckY[k'k (ckYdk'k)	 &	 d”kk[kLrku

	 B.	 fVVhdkdk	 &	 cksyhfo;k&is:

	 C.	 bZjh 	 &	 ;w-,l-,-&dukM+k

	 D.	 cSdky	 &	 ;wØsu
	 (1)	 A	 (2)	 B

	 (3)	 C	 (4)	 D

	 63.	 'Green Energy Corridor' will pass through which 
of the following districts of Rajasthan?

	 (1)	 Udaipur, Bhilwara, Jaipur
	 (2)	 Kota, Ajmer, Jodhpur
	 (3)	 Jodhpur, Jaipur, Alwar
	 (4)	 Ajmer, Chittorgarh, Bikaner
	 64.	 Match list-I with list-II and choose the correct 

answer from the code given below-
	 	 List-I 		  List-II 
		  (District)		  (Main Industry)
	 A.	 Udaipur	 (i)	 White cement
	 B.	 Nagaur 	  (ii)	 Chemical
	 C.	 Bhilwara 	  (iii)	 Textile

	 D.	 Kota	 (iv)	 Lead and Zinc
		  Code-
		  A	 B	 C	 D

	 (1)	 (i)	 (ii)	 (iv)	 (iii)

	 (2)	 (iii)	 (i)	 (ii)	 (iv)

	 (3)	 (iv)	 (ii)	 (i)	 (iii)

	 (4)	 (iv)	 (i)	 (iii)	 (ii)

	 65.	 Which one of the following is not correctly 
matched?

	 (1)	 Anshan - Iron and Steel
	 (2)	 Yokohama - Ship Building
	 (3)	 Detroit - Automobile
	 (4)	 Gornaya Shoria - Cotton Textile
	 66.	 Which among the following are parts of Thar 

desert? 
	 (A)	 Godwar Tract	
	 (B)	 Shekhawati Tract
	 (C)	 Banas Plain	
	 (D)	 Ghaggar Plain
	 (1)	 (A), (B) and (D)	 (2)	 (A), (C) and (D)
	 (3)	 (B) and (C)	 (4)	 (A) and (B)
	 67.	 In which year Rajasthan Solar Energy policy was 

declared? 
	 (1)	 2019	 (2)	 2017
	 (3)	 2015	 (4)	 2018
	 68.	 Which among the following is not correctly 

matched?
		  Lake	 -	 Country
	 (A)	 Balkhash	 - 	Kazakhstan
	 (B)	 Titicaca	 - 	Bolivia-Peru
	 (C)	 Erie	 - 	USA-Canada
	 (D)	 Baikal	 -	 Ukraine
	 (1)	 A	 (2)	 B
	 (3)	 C	 (4)	 D
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	69.	 lwph&I dks lwph&II lss lqesfyr dhft, rFkk uhps fn;s 
x, dwV esa ls lgh mÙkj pqfu,µ

		  lwph&I		 lwph&II 

		  (LFkku)		 (mQtkZ)

	 A.	 ikokx<+	 (i)	 iou

	 B.	 rkrikuh	 (ii)	 lkSj

	 C.	 eqiany	 (iii)	 Hkwrkih;

	 D.	 dkdjkikj	 (iv)	 ijek.kq (vkf.od)

	 dwV
		  A	 B	 C	 D

	 (1)	 (ii)	 (iii)	 (i)	 (iv)

	 (2)	 (i)	 (ii)	 (iii)	 (iv)

	 (3)	 (iii)	 (ii)	 (i)	 (iv)

	 (4)	 (i)	 (iii)	 (ii)	 (iv)

	70.	 MksMk&csV~Vk pksVh fLFkr gSµ
	 (1)	 foaè;kpy Js.kh esa	 (2)	 lriqM+k Js.kh esa

	 (3)	 vUukeykbZ igkfM+;ksa esa	 (4)	 uhyfxjh igkfM+;ksa esa

	71.	 vkS|ksfxd mRiknu funsZ'kkad] tks fd Hkkjrh; vFkZO;oLFkk 
esa vkS|ksfxd fØ;kvksa dk ekid gS] blesa D;k lfEefyr 
ugha fd;k tkrk gS\

	 (1)	 fo|qr	 (2)	 [kuu

	 (3)	 xSl ,oa tykiw£r	 (4)	 fofuekZ.k

	72.	 ck”kkj ewY;ksa ij 'kq¼ jk"Vªh; mRikn gSµ
	 (1)	 ck”kkj ewY;ksa ij ldy jk"Vªh; mRikn & gLrkarj.k 

Hkqxrku

	 (2)	 ck”kkj ewY;ksa ij ldy jk"Vªh; mRikn & vuqnku

	 (3)	 ck”kkj ewY;ksa ij ldy jk"Vªh; mRikn & fons'k 
ls 'kq¼ vk;

	 (4)	 ck”kkj ewY;ksa ij ldy jk"Vªh; mRikn & ewY;ßkl

	73.	 O;kikj lqxerk fjiksVZ] 2020 ds vuqlkj] bZt vkWiQ Mwbax 
fctusl lwpdkad 2019 esa] Hkkjr dk dkSu&lk LFkku 
jgk\

	 (1)	 63	 (2)	 146
	 (3)	 96	 (4)	 77

	74.	 jk"Vªh; Ñf"k foLrkj ,oa rduhdh fe'ku esa foÙk iks"k.k 
esa jktLFkku ljdkj dk fgLlk D;k gS\

	 (1)	 50 izfr'kr	 (2)	 40 izfr'kr

	 (3)	 20 izfr'kr	 (4)	 30 izfr'kr

	75.	 fuEu esa ls dkSu ls ctV esa] Hkkjr esa jsy ctV dks 
dsanzh; ctV esa feyk fn;k x;k\

	 (1)	 ctV 2018 - 19	 (2)	 ctV 2017 - 18

	 (3)	 ctV 2016 - 17	 (4)	 ctV 2019 - 20

	 69.	 Match list-I with list-II and choose the correct 
answer from the code given below -

		  List - I 		  List-II 
		  (Site)		  (Energy)
	 (1)	 Pavagada 	 (i)	 Wind
	 (2)	 Tattapani	 (ii)	 Solar
	 (3)	 Muppandal 	 (iii)	 Geo-thermal
	 (4)	 Kakrapar	 (iv)	 Atomic
		  Code-
		  A	 B	 C	 D

	 (1)	 (ii)	 (iii)	 (i)	 (iv)

	 (2)	 (i)	 (ii)	 (iii)	 (iv)

	 (3)	 (iii)	 (ii)	 (i)	 (iv)

	 (4)	 (i)	 (iii)	 (ii)	 (iv)

	 70.	 Doda Betta Peak is situated in-
	 (1)	 The Vindhya Range
	 (2)	 The Satpura Range 
	 (3)	 The Anaimalai Hills
	 (4)	 The Nilgiri Hills
	 71.	 What is not included in the Index of Industrial 

Production (IIP), which is the measure of Industrial 
activities in the Indian Economy?

	 (1)	 Electricity	 (2)	 Mining
	 (3)	 Gas and water supply	(4)	 Manufacturing
	 72.	 The Net National Product at Market Price (N.N.P. 

MP) is-
	 (1)	 Gross National Product at Market Price- 

Transfer Payments
	 (2)	 Gross National Product at Market Price- 

Subsidies
	 (3)	 Gross National Product at Market Price-Net 

-Income from abroad
	 (4)	 Gross National Product at Market Price- 

Depreciation
	 73.	 What was the rank of India in the Ease of Doing 

Business Index for 2019, as per the Doing Business 
Report (DBR), 2020?

	 (1)	 63	 (2)	 146
	 (3)	 96	 (4)	 77
	 74.	 What is the share of Rajasthan Government in 

funding in National Mission on Agriculture 
Extension and Technology?

	 (1)	 50 Percent	 (2)	 40 Percent
	 (3)	 20 Percent	 (4)	 30 Percent
	 75.	 In which of the following budget, the Railway Budget 

was merged with the Union Budget in India?
	 (1)	 Budget 2018 - 19	 (2)	 Budget 2017 - 18
	 (3)	 Budget 2016-17	 (4)	 Budget 2019 - 20
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	76.	 1 vizSy] 2020 dks Hkkjr ljdkj }kjk 'kq: dh xbZ 
vVy Hkw&ty Ldhe esa lgk;rk miyC/ djokus okyh 
laLFkk gSµ

	 (1)	 ,f'k;kbZ fodkl cSad	

	 (2)	 fo'o cSad

	 (3)	 vUr% vesfjdh fodkl cSad

	 (4)	 iqu£uek.k o fodkl gsrq ;wjksih; cSad

	77.	 fuEufyf[kr esa ls dkSu&lk f”kyk jktLFkku esa ^e# 
f=kdks.k* dk Hkkx ugha gS\

	 (1)	 tSlyesj	 (2)	 tks/iqj

	 (3)	 chdkusj	 (4)	 ckM+esj

	78.	 y?kq vkSj lhekUr fdlkuksa dks isa'ku ds mís'; ls 
¶iz/kuea=kh fdlku eku/u ;kstuk¸ dc izkjEHk dh xbZ\

	 (1)	 25 vxLr] 2019

	 (2)	 26 tuojh] 2020

	 (3)	 15 vxLr] 2020

	 (4)	 12 flrEcj] 2019

	79.	 vk;q"eku Hkkjr egkRek xka/h jktLFkku LokLF; chek 
;kstuk ds varxZr uktqd chekjh LokLF; chek ds fLFkfr 
esa izfr ifjokj izfr o"kZ nh tkus okyh jkf'k gSµ

	 (1)	 ` 4.50 yk[k 	 (2)	 ` 3.50 yk[k 

	 (3)	 ` 3 yk[k 	 (4)	 ` 4.00 yk[k 

	80.	 2021-22 ds jktLFkku&ctV esa fo|qr ij dqy O;; 
dk izLrkfor ;kstuk O;; dk izfr'kr gSµ

	 (1)	 52.19%	 (2)	 12.05%
	 (3)	 7.42%	 (4)	 14.32%

	81.	 vfxze vuqekuksa ds vuqlkj] 2020-21 esa fLFkj dherksa 
ij (2011-12) jktLFkku dh izfr O;fDr vk; gSµ

	 (1)	 ` 75,527 	 (2)	 ` 72,297
	 (3)	 ` 97,227	 (4)	 ` 79,722

	82.	 jk"Vªh; vk; ys[kkadu esa ^vk/kj o"kZ* dk vFkZ gSµ

	 (1)	 ftl o"kZ dh dherksa dk mi;ksx ekSfnzd th- Mh- 
ih- dh x.kuk ds fy;s fd;k tkrk gSA

	 (2)	 ftl o"kZ dh dherksa dks mi;ksx okLrfod th- 
Mh- ih- dh x.kuk ds fy;s fd;k tkrk gSA 

	 (3)	 ftl o"kZ dh vk; dk mi;ksx ekSfnzd th- Mh- 
ih- dh x.kuk ds fy;s fd;k tkrk gSA

	 (4)	 ftl o"kZ dh vk; dk mi;ksx okLrfod th- Mh- 
ih- dh x.kuk ds fy;s fd;k tkrk gSA 

	83.	 oYMZ gSIihusl b.MsDl 2021 esa Hkkjr dk D;k LFkku 
gS\

	 (1)	 121	 (2)	 141
	 (3)	 129	 (4)	 139

	 76.	 Atal Bhu-Jal Scheme was launched on 1 April, 
2020 by Government of India, with assistance 
of–

	 (1)	 Asian Development Bank
	 (2)	 World Bank
	 (3)	 Inter-American Development Bank
	 (4)	 European Bank for Reconstruction and 

Development 
	 77.	 Which of the following district is not a part of 

'Desert Triangle' in Rajasthan?
	 (1)	 Jaisalmer	 (2)	 Jodhpur
	 (3)	 Bikaner	 (4)	 Barmer 
	 78.	 When was the "PM Kisan Maandhan Yojana" 

launched for the purpose. of pension to small and 
marginal farmers?

	 (1)	 25 August, 2019
 	 (2)	 26 January, 2020
	 (3)	 15 August, 2020
 	 (4)	 12 September, 2019
	 79.	 In case of critical illness health insurance covered 

per family per year under the scheme Ayushman 
Bharat Mahatma Gandhi Rajasthan Swasthaya 
Birna Yojana is -

	 (1)	 ` 4.50 Lakhs 	 (2)	 ` 3.50 Lakhs
	 (3)	 ` 3 Lakhs	 (4)	 ` 4.00 Lakhs
	 80.	 What is the proposed plan expenditure in 

percentage of total expenditure on electricity in 
Rajasthan's budget 2021 - 22?

	 (1)	 52.19%	 (2)	 12.05%
	 (3)	 7.42%	 (4)	 14.32%
	 81.	 As per the advance estimates, per capita income 

of Rajasthan at constant prices (2011–12) for the 
year 2020-21 is–

	 (1)	 ` 75,527 	 (2)	 ` 72,297

	 (3)	 ` 97,227	 (4)	 ` 79,722
	 82.	 'Base year' in National Income accounting means- 
	 (1)	 The year whose prices are being used to 

calculate the nominal GDP
	 (2)	 The year whose prices are being used to 

calculate the real GDP
	 (3)	 The year whose income is being used to 

calculate the nominal GDP
	 (4)	 The year whose income is being used to 

calculate the real GDP
	 83.	 What is the rank of India in the World Happiness 

Index 2021?
	 (1)	 121	 (2)	 141

	 (3)	 129	 (4)	 139
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	84.	 efgykvksa ds l'kfDrdj.k gsrq bafnjk efgyk 'kfDr fuf/ 
dh 'kq#vkr gqbZ Fkhµ

	 (1)	 18 fnlEcj] 2017	 (2)	 18 fnlEcj] 2019

	 (3)	 18 fnlEcj] 2016	 (4)	 18 fnlEcj] 2018

	85.	 tux.kuk&2011 ds vuqlkj] Hkkjr ,oa jktLFkku esa dk;Z 
lgHkkfxrk nj] Øe'k% fdruh jgh\

	 (1)	 39.8% ,oa 36.4%	 (2)	 43.6% ,oa 41.8%

	 (3)	 42.4% ,oa 41.8%	 (4)	 39.8% ,oa 43.6%

	86.	 jktLFkku esa jk"Vªh; xzke Lojkt vfHk;ku ds lanHkZ esa 
fuEufyf[kr esa ls dkSu&lk dFku xyr gS\

	 (1)	 bl ;kstuk esa foÙk iks"k.k ds fy;s dsanz o jkT; 
ljdkj ds chp 60:40 ds vuqikr esa fgLlsnkjh 
gksrh gSA

	 (2)	 bl ;kstuk dk ukjk gS ^vki.kh ;kstuk vki.kks 
fodkl* gSA

	 (3)	 iapk;r l'kfDrdj.k vfHk;ku dk gh uke cnydj 
jk"Vªh; xzke Lojkt vfHk;ku fØ;k x;k gSA

	 (4)	 bl ;kstuk esa fo'ks"k è;ku tuizfrfuf/;ksa ,oa 
dk£edksa ds {kerk lao/Zu ij gSA

	87.	 jktLFkku esa lrr~ fodkl y{;ksa ds izHkkoh fØ;kUo;u 
gsrq fuEu esa ls fdl foHkkx dks uksMy foHkkx ?kksf"kr 
fd;k x;k gS\

	 (1)	 m|ksx funs'kky;

	 (2)	 ekuo lalk/u fodkl foHkkx

	 (3)	 vk;kstuk foHkkx

	 (4)	 eq[;ea=kh dk;kZy;

	88.	 jktLFkku dh ̂ ijou* cgqmís';h; flapkbZ ifj;kstuk fuEu 
f”kyksa dks ¯lpkbZ lqfo/k iznku djsxhµ

	 (1)	 >kykokM+ vkSj HkhyokM+k f”kyk

	 (2)	 Vksad] cwUnh vkSj dksVk f”kyk

	 (3)	 dksVk] cwUnh vkSj >kykokM+ f”kyk

	 (4)	 >kykokM+] ckjka vkSj dksVk f”kyk

	89.	 fuEufyf[kr esa ls dkSu ¶vk;q"eku Hkkjr iz/kuea=kh tu 
vkjksX; ;kstuk¸ ds fØ;kUo;u gsrq mÙkjnk;h gS\

	 (1)	 uhfr vk;ksx

	 (2)	 Hkkjrh; chek fofu;ked vkSj fodkl izkf/dj.k

	 (3)	 fo'o LokLF; laxBu

	 (4)	 jk"Vªh; LokLF; izkf/dj.k

	90.	 jktLFkku ctV 2021&22 ds vuqlkj] fiQuVsd fMftVy 
fo'ofo|ky; dh LFkkiuk fdl f”kys esa gksxh\

	 (1)	 tks/iqj	 (2)	 t;iqj

	 (3)	 lhdj	 (4)	 vtesj

	 84.	 For empowerment of women Indira Mahila Shakti 
Nidhi was launched on -

	 (1)	 18 December, 2017 	 (2)	 18 December, 2019 
	 (3)	 18 December, 2016 	 (4)	 18 December, 2018
	 85.	 According to census-2011, what was the work 

participation rate in India and Rajasthan 
respectively?

	 (1)	 39.8% and 36.4%	 (2)	 43.6% and 41.8%
	 (3)	 42.4% and 41.8%	 (4)	 39.8% and 43.6%
	 86.	 Which of the following statetent is wrong about 

Rashtriya Gram Swaraj Abhiyaan in Rajasthan?
	 (1)	 The funding pattern of this scheme is to be 

shared between Central and State Govt. in 
the ratio of 60:40.	

	 (2)	 Slogan of the scheme is 'Aapni Yojana Aapno 
Vikas'.

	 (3)	 Panchayat Shashaktikaran Abhiyaan was 
renamed	as  Rash t r iya  Gram Swara j 
Abhiyaan.

	 (4)	 Focus of the scheme is on capacity building 
of elected representatives and functionaries.

	 87.	 Which of the following department has been 
declared as the Nodal Department for the effective 
implementation of Sustainable Development Goals 
in Rajasthan?

	 (1)	 Directorate of Industries
	 (2)	 Human Resource Development Department
	 (3)	 Planning Department
	 (4)	 Chief Minister's Office
	 88.	 'Parwan' multipurpose irrigation project of 

Rajasthan will provide irrigation facilities in the 
following districts–

	 (1)	 Jhalawar and Bhilwara district
	 (2)	 Tonk, Bundi and Kota district
	 (3)	 Kota, Bundi and Jhalawar district
	 (4)	 Jhalawar, Baran and Kota district
	 89.	 Which of the following is responsible for 

implementation of "Ayushman Bharat Pradhan 
Mantri Jan Aarogya Yojana"?

	 (1)	 Niti. Aayog	
	 (2)	 Insurance Regulatory and Development 

Authority of India
	 (3)	 World Health Organisation
	 (4)	 National Health Authority
	 90.	 According to Rajasthan budget 2021-22, in which 

district the Fintech Digital University will be 
established? 

	 (1)	 Jodhpur 	 (2)	 Jaipur
	 (3)	 Sikar 	 (4)	 Ajiner
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	91.	 ekrk xHkZLFk f'k'kq Rh jDr izdkj folaxfr dh leL;k 
mRiu gks ldrh gS] ;fn ekrk ----------- gS ,oa mldk 
xHkZLFk f'k'kq ------------- gSA

	 (1)	 Rh ghu_ Rh lfgr

	 (2)	 Rh ghu_ Rh ghu

	 (3)	 Rh lfgr_ Rh lfgr

	 (4)	 Rh lfgr_ Rh ghu

	92.	 jktLFkku dk jkT; iq"i gS&

	 (1)	 dpukj	 (2)	 jksfgM+k

	 (3)	 ukx dslj	 (4)	 lwjteq[kh

	93.	 fuEu esa ls dkSu ls foVkfeUl olk esa ?kqyu'khy gSa\

	 (1)	 B12 ,oa D	 (2)	 A ,oa C

	 (3)	 A ,oa D	 (4)	 C ,oa E

	94.	 dM+dukFk ,d fdLe gS&

	 (1)	 cdjs dh	 (2)	 HkSal dh

	 (3)	 eqxsZ dh	 (4)	 lk¡M dh

	95.	 LVsFkksLdksi eas] jksxh dh fny dh /M+du dh èofu 
MkWDVj ds dkuksa rd igq¡prh gS&

	 (1)	 èofu ds cgq foorZu }kjk

	 (2)	 èofu ds cgq viorZu }kjk

	 (3)	 èofu ds cgq ijkorZu }kjk

	 (4)	 èofu ds /zqo.k }kjk

	96.	 16:9 ds fp=k vfHkeq[krk vuqikr (fiDpj vkLisDV 
js';ks) ds lkFk] izn'kZ foHksnu (fMLIys fjtkWY;w'ku) 
1080p dk vFkZ gS&

	 (1)	 1080×1080 fiDlsYl

	 (2)	 1920×1080 fiDlsYl

	 (3)	 3840×1080 fiDlsYl

	 (4)	 720×1080 fiDlsYl

	97.	 laihfMr izkÑfrd xSl (lh-,u-th-) eq[;r% gS&

	 (1)	 izkssisu	 (2)	 ,Fksu

	 (3)	 ehFksu	 (4)	 C;wVsu

	98.	 fiNyh lnh esa oSf'od vkSlr rkieku esa fdruh o`f¼ 
gqbZ gS\

	 (1)	 2.4°F	 (2)	 3.4°F

	 (3)	 3.0°F	 (4)	 1.8°F

	99.	 Hkkjr ou fLFkfr fjiksVZ 2019 ds vuqlkj] fuEu esa ls 
fdl ,d ftys esa] cgqr ?kuk taxy {ks=kiQy U;wure 
gS\

	 (1)	 t;iqj	 (2)	 vyoj

	 (3)	 tks/iqj	 (4)	 tSlyesj

	 91.	 Mother-foetus Rh blood type incapability problems 
can occur if the mother is............. and her foetus 
is ...........

	 (1)	 Rh negative; Rh positive
	 (2)	 Rh negative; Rh negative
	 (3)	 Rh positive; Rh positive
	 (4)	 Rh positive; Rh negative
	 92.	 The state flower of Rajasthan is-
	 (1)	 Kachnar	 (2)	 Rohida
	 (3)	 Nag kesar	 (4)	 Sunflower
	 93.	 Which of the following vitamins are fat soluble?
	 (1)	 B12 and D	 (2)	 A and C
	 (3)	 A and D	 (4)	 C and E
	 94.	 Kadaknath is a breed of-
	 (1)	 Goat	 (2)	 Buffalo
	 (3)	 Fowl	 (4)	 Bull
	 95.	 In Stethoscope, the sound of the patient's heartbeat 

reaches the doctor's ears by-
	 (1)	 Multiple diffraction of sound
	 (2)	 Multiple refraction of sound
	 (3)	 Multiple reflection of sound
	 (4)	 Polarisation of sound
	 96.	 With a 16:9 picture aspect ratio, display resolution 

1080p means-
	 (1)	 1080×1080 pixels
	 (2)	 1920×1080 pixels
	 (3)	 3840×1080 pixels
	 (4)	 720×1080 pixels
	 97.	 Compressed Natural Gas (CNG) is mainly–
	 (1)	 Propane
	 (2)	 Ethane
	 (3)	 Methane
	 (4)	 Butane
	 98.	 How much has the global average temperature 

risen in the last century?
	 (1)	 2.4°F
	 (2)	 3.4°F
	 (3)	 3.0°F
	 (4)	 1.8°F
	 99.	 According to India State of Forest Report 2019, in 

which one of the following district, very dense 
forest area is minimum?

	 (1)	 Jaipur
	 (2)	 Alwar
	 (3)	 Jodhpur	
	 (4)	 Jaisalmer
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	100.	 foKku vkSj izks|ksfxdh foHkkx ds v/hu dk;Zjr jkT; 
fjeksV lsaflax ,Iyhds'ku lsUVj fLFkr gS&

	 (1)	 >kykokM+ esa	 (2)	 tks/iqj esa
	 (3)	 t;iqj esa	 (4)	 vtesj esa

	101.	 jktLFkku esa lkSj os/'kkyk dgk¡ fLFkr gS\
	 (1)	 vtesj esa	 (2)	 t;iqj esa
	 (3)	 tks/iqj esa	 (4)	 mn;iqj esa
	102.	 nqnZe (esfyxusaV) eysfj;k gksrk gS&
	 (1)	 IykLeksfM;e fooSDl ls

	 (2)	 IykLeksfM;e vksosy ls

	 (3)	 IykLeksfM;e iQSYlhiSje ls

	 (4)	 IykLeksfM;e eysfj;s ls

	103.	 MOEMS dk iw.kZ:i gS&
	 (1)	 ekbØks&vkWfIVd bysDVªkWfud ehfM;k lkslZ

	 (2)	 ekbØks&vkWIVks&bysDVªks&esdsfudy&flLVEl

	 (3)	 esxk vkWijs'kUl bysDVªkWfud ehfM;k lkWÝVos;j

	 (4)	 ekbØks&vkWfIVd bysDVªks&esdsfudy lkslZ

10	4.	 j{kk vuqla/ku ,oa fodkl laxBu dk vkn'kZokD; gS&
	 (1)	 cyL; ewya foKkue~	 (2)	 rstfLouko/hreLrq
	 (3)	 o;a j{kke%	 (4)	 tkx`ra vgfuZ'ke~

	105.	 fuEufyf[kr esa ls dkSu&lk ,d twuksfVd jksx ugha gS\
	 (1)	 E;wdksjekbdksfll

	 (2)	 Iysx

	 (3)	 ,l-,-vkj-,l- (SARAS)
	 (4)	 jsch”k

	106.	 Vªkblkseh 21 dks fuEu esa ls fdl uke ls tkuk tkrk 
gS\

	 (1)	 bokal flaMªkse	 (2)	 ,MoM~Zl flaMªkse
	 (3)	 xsz csch flaMªkse	 (4)	 Mkmu flaMªkse
	107.	 DokaVe MkWV gS&
	 (1)	 1 uSuksehVj ls NksVh uSuks lajpukvksa dk bysDVªkWu 

lw{en'khZ izfrfcEc

	 (2)	 ,d dfYir uSuksjkscksV

	 (3)	 jsfM;ks ,UVhuk dk uSuksLdsy vuq:i

	 (4)	 v¼Zpkyd uSuks lajpuk

	108.	 fuEu esa ls dkSu&lk vko`fÙk cSaM INSAT/GSAT mixzg 
lapkj gsrq mi;ksx esa ugha fy;k tkrk gS\

	 (1)	 Ku	 (2)	 C
	 (3)	 MF	 (4)	 Ka
	109.	 tkikuh bUlsiQsykbfVl dk dkj.k fo"kk.kq euq"; 'kjhj ds 

fdl fgLls dks laØfer djrk gS\

	 (1)	 efLr"d	 (2)	 iQsiQM+s

	 (3)	 Ropk	 (4)	 yky #f/j dksf'kdk,¡

	100.	 The state Remote Sensing Application Centre 
working under Department of Science and 
Technology Rajasthan is situated at-

	 (1)	 Jhalawar	 (2)	 Jodhpur
	 (3)	 Jaipur	 (4)	 Ajmer
	101.	 Solar observatory in Rajasthan is situated at-
	 (1)	 Ajmer	 (2)	 Jaipur
	 (3)	 Jodhpur	 (4)	 Udaipur
	102.	 Malignant malaria is caused by-
	 (1)	 Plasmodium vivax
	 (2)	 Plasmodium ovale
	 (3)	 Plasmodium flaciparum
	 (4)	 Plasmodium malariae
	103.	 Full for of MOENS is-
	 (1)	 Micro-Optic Electronic Media Source
	 (2)	 Micro-Opto-Electro-Mechanical-Systems
	 (3)	 Mega Operations Electronic Media Software
	 (4)	 Micro-Optic Electro-Mechanical Source
	104.	 The motto of Defence Research and Development 

Organisation is-
	 (1)	 Balasya Mulam Vigyanam
	 (2)	 Tejasvinavdhitamastu
	 (3)	 Vayam Rakshamah
	 (4)	 Jagratam Aharnisham
	105.	 Which of the following is not a Zoonotic disease?
	 (1)	 Mucormycosis	 (2)	 Plague
	 (3)	 SARS	 (4)	 Rabies
	106.	 Trisomy 21 is known as-
	 (1)	 Evans Syndrome	
	 (2)	 Edwards syndrome
	 (3)	 Gray baby syndrome	
	 (4)	 Down syndrome
	107.	 A quantum dot is-
	 (1)	 Electron microscopy image of nanostructures 

smaller than 1 nanometre
	 (2)	 A fictional nanorobot
	 (3)	 Nanoscale analog of ratio antennas
	 (4)	 A semiconductor nanostructure
	108.	 Which of the following frequency bands is not 

used in INSAT/GSAT satellite communication?
	 (1)	 Ku	 (2)	 C
	 (3)	 MF	 (4)	 Ka
	109.	 Which part of human body is infected by the virus 

causing Japanese encephalitis?
	 (1)	 Brain	 (2)	 Lungs
	 (3)	 Skin	 (4)	 Red blood cells
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	110.	 ck;ksekl dk ,d mYVk fijkfeM fdl ikfjfLFkfrdh ra=k 
esa ik;k tk ldrk gS\

	 (1)	 ?kkl dk eSnku	 (2)	 leqnzh

	 (3)	 ou	 (4)	 VqaMªk

	111.	 ,d dFku ds i'pkr~ pkj rdZ I, II, III vkSj IV fn;s 
x;s gSaA dkSu&lk (ls) rdZ vf/d etcwr gS@gSa] pqfu;s&

		 dFku% D;k eksVj lkbfdy dks pykrs le; pkyd vkSj 
fiNyh lhV ij cSBs O;fDr nksuksa ds fy;s gsyesV iguus 
ds fu;e dk dBksjrk ls ikyu djokuk pkfg;s\

		 rdZ% I. ugha] izR;sd Lo;a ds thou dh j{kk dSlh djuh 
gS tkurk gS ,oa bls mlds foosd ij NksM+ nsuk 
pkfg;sA

			  II.		gk¡] ;g fu;e gS vkSj fu;eksa dh ikyuk dM+kbZ 
ls lHkh dks djuh pkfg;sA

			  III.	gk¡] ;g vko';d gS D;ksafd flj 'kjhj dk lcls 
laosnu'khy@fu;ra=kd vad gS bls gsyesV }kjk 
lqjf{kr djuk pkfg;sA

			  IV.	ugha] ;g flj dh lqj{kk lqfuf'pr ugha djrk gSA

	 (1)	 dksbZ rdZ e”kcwr ugha gS

	 (2)	 dsoy I vkSj IV rdZ e”kcwr gSa

	 (3)	 dsoy II vkSj III rdZ e”kcwr gSa

	 (4)	 dsoy I vkSj II rdZ e”kcwr gSa

	112.	 ,d dFku ds i'pkr~ nks fu"d"kZ I vkSj II fn;s x;s gSaA 
vkidks dFku esa nh xbZ izR;sd tkudkjh dks lR; ekuuk 
gS] nksuksa fu"d"kks± dks lkFk fopkj djds fu.kZ; dhft;s 
fd dkSu&lk fu"d"kZ vuqlj.k djrk gSA

		 dFku % vktdy ekrk&firk vius cPpksa esa mÙke fodkl 
ds fy;s dqyhu f'k{k.k laLFkkvksa dks fdruh Hkh iQhl 
nsus dks rS;kj jgrs gSaA

		  fu"d"kZ% I.	ekrk&firk ij vPNs f'k{k.k laLFkkuksa ds ekè;e 
ls vius cPpksa ds mÙke fodkl dh /qu lokj 
gSA

	 II.	vktdy lHkh ekrk&firk cgqr iSls okys gSaA

	 (1)	 dsoy fu"d"kZ I vuqlj.k djrk gSA

	 (2)	 dsoy fu"d"kZ II vuqlj.k djrk gSA

	 (3)	 nksuksa fu"d"kZ vuqlj.k djrs gSaA

	 (4)	 u rks fu"d"kZ I vkSj uk gh fu"d"kZ II vuqlj.k 
djrk gSA

	113.	 fuEufyf[kr dk vè;;u dj iz'u dk mÙkj nsa&
		 dFku % fiNys dqN gÝrksa ds nkSjku isVªksy dh dhersa 

c<+h gSaA
	 	dk;Zokgh %
	 I.	 ljdkj dks ,d fo'ks"kK lfefr dk xBu djuk 

pkfg;s tks dherksa dh izo`fÙk dk vè;;u djsaA

	110.	 An inverted pyramid of biomass can be found in 
which ecosystem?

	 (1)	 Grassland	 (2)	 Marine
	 (3)	 Forest	 (4)	 Tundra
	111.	 A statement is followed by four arguments 

numbered I, II, III & IV. Choose which of the 
argument(s)?

		  Statement: Should the rule of wearing helmet for 
both driver and pillion rider while driving a motor 
cycle be enforced strictly?

		  Arguments: I.	No, each individual knows how to 
protect his own life and it should 
be left to his discreation.

			   II.	Yes, it is a rule and ruels should be 
followed strictly by all.

			   III. Yes it is a necessity as the head is 
most sensitive/controlling organ, it 
should be protected by the helmet.

			   IV. No, it does not ensure safety of the 
head.

	 (1)	 None is stong
	 (2)	 Only I and IV are strong
	 (3)	 Only II and III are strong
	 (4)	 Only I and II are strong
	112.	 A statement is followed by two conclusions 

numbered I & II. you have to assume everythmg 
in the statement to be true, then consider the two 
conclusions together and decide which of them 
logically follows.

		  Statement : Nowadays parents are prepared. to 
pay any fee for an elite education institute for the 
perfect development of their children.

		  Conclusions : I	Parents have an obsessive passion 
for a perfect development of their 
childen through good education 
institute.

			   II These days all parents are very 
well off.

	 (1)	 Only conclusion I follows 
	 (2)	 Only conclusion II follows 
	 (3)	 Both conclusions follows
	 (4)	 Neither I nor II conclusion follows
	113.	 Study the following then answer the question–
	 	 Statement : The petrol prices have gone up during 

the past few weeks.
		  Courses of action:
	 I	 The government should set up an expert 

committee to study the trend of prices.
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	 II.	 ljdkj dks isVªksy ij rqjar VSDl de dj nsuk 
pkfg;sA

	 III.	 ljdkj dks lkekU; turk dks lykg nsuh pkfg;s 
fd dqN lIrkg ds fy;s isVªksy [kjhnus ls ijgs”k 
djsaA

		 fu.kZ; dhft;s dh dkSu&lh dk;Zokgh vuqlj.k djrh gSA
	 (1)	 dsoy I	 (2)	 dsoy II
	 (3)	 dsoy III	 (4)	 buesa ls dksbZ ugha

	114.	 fuEu vkjs[k esa fofHkUu v{kjksa dks vadksa 1, 2, 3, 4, 5, 
6, 7, 8 vkSj 9 ls iznf'kZr fd;k x;k gS] tks bl izdkj 
gS fd izR;sd “M + N + P”, “P + Q + R”, “R + S + 
T” vkSj “T + U + V”, 13 ds cjkcj gSaA R fdl vad 
dks iznf'kZr djrk gSA

		 vad dks iznf'kZr djrk gS\
	 M	 N	 P
			   Q
			   R	 S	 T
					     U
					     V

	 (1)	 3	 (2)	 4
	 (3)	 2	 (4)	 1
	115.	 uhps fn;s x;s fp=k esa vk;r vkSj oxks± (nksuksa) dh dqy 

la[;k gS&

	 (1)	 19	 (2)	 23
	 (3)	 21	 (4)	 22
	116.	 1 ls 156 rd la[;kvksa ds eè; fLFkr la[;kvksa dk 

tks fd 2, 3, 4 vkSj 6 ls foHkkT; gS] dk lekUrj ekè; 
gksxk&

	 (1)	 76	 (2)	 78
	 (3)	 91	 (4)	 74
	117.	 uhps fn;s x;s fp=k esa vk;r iq#"kksa dks] f=kHkqt f'kf{krksa 

dks] o`Ùk 'kgjh dks vkSj oxZ ljdkjh deZpkfj;ksa dks 
iznf'kZr djrk gS] rks fuEufyf[kr esa ls dkSu&lk f'kf{kr 
iq#"k tks 'kgjh ugha gS dks iznf'kZr djrk gS\

10
1312

9

8

4
11 14

5

6
0

	 (1)	 14	 (2)	 9

	 (3)	 4	 (4)	 11

	 II. 	 The government should immediately reduce 
taxes on petrol. 

	 III.	 The government should advise the general 
public to refrain from purchasing petrol for 
few weeks. 

		  Decide which of the suggested course of action 
follows.

	 (1)	 Only I 	 (2)	 Only II 
	 (3)	 Only III 	 (4)	 None of these
	114.	 Each of the digits 1, 2, 3, 4, 5, 6, 7, 8 and 9 is 

represented by a different letter in the following 
figure, such that each of ''M + N + P", "P + Q + 
R", ''R + S + T" and "T + U + V" is equal to 13. 
Which digit will 'R' represent?

		

	 M	 N	 P
			   Q
			   R	 S	 T
					     U
					     V

	 (1)	 3	 (2)	 4

	 (3)	 2	 (4)	 1
	115.	 Total number of squares and rectangles (both) in 

the following figure is–

		

	 (1)	 19	 (2)	 23
	 (3)	 21	 (4)	 22
	116.	 Arithmetic mean of the numbers between l to 156 

which are divisible by 2, 3, 4 and 6 is –
	 (1)	 76	 (2)	 78
	 (3)	 91	 (4)	 74
	117.	 In the following diagram, rectangle represents men, 

triangle represents educated, circle represents 
urban and square represents government 
employees. Which one of the following represents 
educated men who are not urban?
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	 (1)	 14	 (2)	 9
	 (3)	 4	 (4)	 11
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	118.	 ,d iqLrd ds izdk'ku esa gksus okys O;; dk izfr'kr 
forj.k fuEufyf[kr ikbZ pkV esa fn;k x;k gS&

25%

25%
15%

15%

10%

10%

jkW;yVh

ftYn
VªkaliksVZ

fizafVax

isij

izpkj

		 iqLrdksa dh fo'ks"k la[;k ds fy;s ;fn jkW;YVh dk Hkqxrku  
` 22,950 gS] rks fizafVax ij gksus okyk O;; gS&

	 (1)	 ` 46,250	 (2)	 ` 42,250

	 (3)	 ` 36,250	 (4)	 ` 38,250

	119.	 uhps nks dFku fn, x, gSa] ,d dks nkok (A) vkSj nwljs 
dks dkj.k (R) ds :i esa n'kkZ;k x;k gSA

	 	nkok (A) % lgh dke ds fy;s lgh O;fDr dk p;u 
lgh osru ij p;u djus dk lgh n`f"Vdks.k gSA

		 dkj.k (R) % xyr pquk x;k O;fDr ,d nkf;Ro gSA 

		 mijksDr lanHkZ esa] fuEu esa ls dkSu&lk ,d lgh gS\

	 (1)	 'A' lgh gS ysfdu 'R' xyr gS

	 (2)	 nksuksa 'A' rFkk 'R' lgh gSa ysfdu 'R', 'A' dh lgh 
O;k[;k ugha gS

	 (3)	 'A' xyr gS ysfdu 'R' lgh gS

	 (4)	 nksuksa 'A' rFkk 'R' lgh gSa rFkk 'R', 'A' dh lgh 
O;k[;k gS

	120.	 ohjsUnz jktsUnz ds firk dk yM+dk gSA jktsUnz dh cqvk 
eatq gSA vkn'kZ eatq dk ifr gS vkSj izdk'k dk nkekn 
gSA izdk'k jktsUnz ls dSls lacaf/r gS\

	 (1)	 Hkrhtk	 (2)	 iq=k

	 (3)	 HkkbZ	 (4)	 nknk

	121.	 ,d dFku ds i'pkr~ nks iwoZ/kj.kk;sa I vkSj II nh xbZ 
gSaA dFku vkSj mlds i'pkr~ nh xbZ iwoZ/kj.kkvksa ds 
vk/kj ij fu.kZ; dhft, fd dkSulh iwoZ/kj.kk dFku 
esa var£ufgr gS\

		 dFku % yfyrk ds ikl iqLrdksa dks fo'kky laxzg gS 
vkSj og vius laxzg esa lfEefyr djus ds fy, u;h 
iqLrdsa [kjhnrh jgrh gSA

		 iwoZ/kj.kk;sa %	I. ���yfyrk us tks iqLrdsa [kjhnh gSa mlus 
og izR;sd iqLrd i<+h gSA

	118.	 In the following pie chart, the percentage 
distribution of the expenditure incurred in 
publishing a book is given -
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		  If for a certain quantity of books, the publisher has 
to pay `22,950 for royalty, then what will be the 
amount of printing to be paid for the books?

	 (1)	 ` 46,250	 (2)	 ` 42,250
	 (3)	 ` 36,250	 (4)	 ` 38,250
	119.	 Given below are two statements, one is labelled 

as Assertion (1) and the other is labelled as Reason 
(R).

		  Assertion (1) : Selecting the right man for the right 
job at the right pay is the right approach.

		  Reason (R) : A wrongly selected man is a liability.
		  In the above context, which one of the following 

is correct?
	 (1)	 'A' is true. but 'R' is false
	 (2)	 Both 'A' and 'R' are true but 'R' is not correct 

explanation of 'A'
	 (3)	 'A' is false but 'R' is true	
	 (4)	 Both 'A' and 'R' are true and 'R' is the correct 

explanation of 'A'
	120.	 Virendra is the son of Rajendra' s father, Rajendra' 

s paternal Aunt is Manju. Adarsh is the husband 
of Manju and son-in-law of Prakash. How is 
Prakash related to Rajendra?

	 (1)	 Nephew	 (2)	 Son
	 (3)	 Brother	 (4)	 Grandfather
	121.	 A statement is followed by two assumptions 

numbered I and II. Consider the statement and the 
following assumptions and decide which of the 
assumption is implicit in the given statement?

		  Statement : Lalita has a large collection of books 
and she keeps on purchasing, new books to add to 
her collection.

		  Assumptions : I. Lalita has read each and every 
book that she has purchased. 
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		  	 II. �yfyrk dks iqLrdksa ds fy;s I;kj vkSj 
tquwu gSA

	 (1)	 dsoy I iwoZ/kj.kk var£ufgr gS

	 (2)	 dsoy II iwoZ/kj.kk var£ufgr gS

	 (3)	 nksuksa iwoZ/kj.kk;sa var£ufgr gSa

	 (4)	 u rks I iwoZ/kj.kk vkSj uk gh II iwoZ/kj.kk var£ufgr 
gS

	122.	 fdl /u ds 5% ok£"kd nj ls rhu o"kZ esa pØo`f¼ 
C;kt rFkk lk/kj.k C;kt dk varj ̀  183 gS] rks ewy/u 
gSµ

	 (1)	 ` 18,000	 (2)	 ` 8,000
	 (3)	 ` 24,000	 (4)	 ` 21,000

	123.	 ekuk fdl dwV (dksM) fo'ks"k esa] TIGER dks QDFHS 
dh rjg rFkk MERIT dks SHQDL dh rjg fy[kk 
tkrk gS] rc blh dwV (dksM) esa FROZEN dks bl 
rjg fy[kk tk;sxkµ

	 (1)	 MDYNQE	 (2)	 MDEZOR
	 (3)	 MEYNQD	 (4)	 EQNYDM

	124.	 3 mEehnokjksa A, B ,oa C ds ,d pquko esa A, B ls 
50% vfèkd oksV izkIr djrk gSA A, C dks 18,000 
oksVksa ls Hkh gjkrk gSA ;fn ;g Kkr gks] fd B, C ls 5% 
vf/d oksV izkIr djrk gS] rks ernkrk lwph ij vafdr 
ernkrk lwph ds 90% ernkrkvksa us oksV fn;s rFkk dksbZ 
Hkh oksV voS/ ugha FksA

	 (1)	 90,000	 (2)	 81,000
	 (3)	 1,10,000	 (4)	 1,00,000

	125.	 ,d vk;rkdkj dejk 12 ehVj yEck] 6 ehVj pkSM+k 
rFkk 4 ehVj mQ¡pk gSA blesa nks njokts izR;sd 2 ehVj 
× 1 ehVj ds ,oa 2 f[kM+fd;k¡ izR;sd 1.5 ehVj × 1 
ehVj dh gSA ;fn nhokjksa ij jax djokus dk dqy O;; 
gSµ

	 (1)	 ` 2010	 (2)	 ` 1955

	 (3)	 ` 2155	 (4)	 ` 2055

	126.	 ckLdsVckWy ds dqN f[kykM+h okWyhckWy ds Hkh f[kykM+h 
gSa] okWyhckWy ds dqN f[kykM+h cSM¯eVu ds Hkh f[kykM+h 
gSa] ckLdsVckWy dk dksbZ Hkh f[kykM+h cSM¯eVu dk 
f[kykM+h ugha gSA

		 fuEufyf[kr esa ls dkSu&lk fp=k mi;qZDr dFku dks 
izn£'kr djrk gS\

	 (1)	 	 (2)	

	 (3)	 	 (4)	

			   II.	 Lalita has love and passion for 
books.

	 (1)	 Only I assumption is implicit
	 (2)	 Only II assumpnon is implicit
	 (3)	 Both of the assumptions are implicit 
	 (4)	 Neither I assumption nor II assumption is 

implicit
	122.	 If on a certain amount, the difference between 

Compound interest and Simple interest at the rate 
5% per annum for three years is f 183, then the 
Principal amountis: 

	 (1)	 ` 18,000	 (2)	 ` 8,000
	 (3)	 ` 24,000	 (4)	 ` 21,000
	123.	 Suppose that in a particular code, TIGER is written 

as QDFHS and MERIT is written as SHQDL, then 
in the same code, FROZEN will be written as–

	 (1)	 MDYNQE	 (2)	 MDEZOR
	 (3)	 MEYNQD	 (4)	 EQNYDM
	124.	 In an election of 3 candidates A, B and C, A gets 

50% more votes than B. A also beats C by 18,000 
votes. If it is known that B gets 5% more votes 
than C, then find the number of voters on the voting 
list, given that 90% of the voters on the voting list 
voted and no votes were illegal.

	 (1)	  90,000	 (2)	 81,000
	 (3)	 1,10,000	 (4)	 1,00,000
	125.	 A rectangular room is 12 meter long, 6 meter wide 

and 4 meter hight. It has two doors of size 2 meter 
× 1 meter each and two windows of size 1.5 meter 
×1 meter each. If the rate of paint (on the walls) is 
` 15 per square mater, then total cost of painting 
the walls is –

	 (1)	 ` 2010	 (2)	 ` 1955
	 (3)	 ` 2155	 (4)	 ` 2055
	126.	 Some of the basketball players are volleyball 

players, some of the volleyball players are 
badminton players, no basketball player is a 
badminton player.

		  Which of the following diagramrepresents the 
above statement?

	 (1)	 	 (2)	

	 (3)	 	 (4)	
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	127.	 ,d ik¡ls dks rhu ckj iSaQdk tkrk gSaA izR;sd ckj iwoZ 
izkIr la[;k ls cM+h la[;k izkIr djus dh izkf;drk gSµ

	 (1)	 1/18	 (2)	 5/54

	 (3)	 5/72	 (4)	 13/216

	128.	 ,d 6 yM+fd;ksa vkSj 4 yM+dksa ds lewg esa ls 4 cPpksa 
dk p;u djuk gSA fdrus vyx&vyx rjhds ls mudk 
p;u fd;k tk ldrk gS tcfd mlesa de ls de ,d 
yM+dh vo'; gks\

	 (1)	 214	 (2)	 206
	 (3)	 210	 (4)	 209

	129.	 tc ?kM+h lqcg ds 7:45 fn[kkrh gS] rc feuV dh lqbZ 
iwoZ dh vksj b'kkjk djrh gSA 3 ?kaVs ckn] ?kaVs dh lqbZ 
fdl fn'kk dh vksj b'kkjk djrh gS\

	 (1)	 mÙkj&iwoZ	 (2)	 iwoZ

	 (3)	 nf{k.k	 (4)	 iwoZ&nf{k.k

	130.	 ,d FkSyh esa ` 1 : 50 iSls rFkk 25 iSls ds flDds 25 
: 9 : 5 ds vuqikr esa gSaaA ;fn FkSyh esa dqy /u ` 2460  
gS] rks FkSyh esa 50 iSls ds flDdksa dh la[;k gSµ

	 (1)	 720	 (2)	 1760

	 (3)	 360	 (4)	 580

	131.	 ekpZ 2021 esa] Hkkjr us fuEukafdr esa ls fdl ns'k ds 
lkFk vkink izca/u] lguh;rk vkSj 'keu ds {ks=k esa 
le>kSrk Kkiu (,evks;w) ij gLrk{kj fd;s\

	 (1)	 HkwVku	 (2)	 ckaXykns'k

	 (3)	 usiky	 (4)	 Jhyadk

	132.	 /ksykohjk (xqtjkr) gky gh esa [kcjksa esa D;ksa Fkk\
	 (1)	 jk"Vªh; mn~;kuksa dh lwph esa 'kkfey fd;k x;k

	 (2)	 ;g LFky vkradh geys dk f'kdkj gqvk Fkk

	 (3)	 gky gh esa ;wusLdks dh fo'o fojklr lwph esa 
lfEefyr fd;k x;k

	 (4)	 Vkbxj fj”koZ ?kksf"kr gqvk

	133.	 jktLFkku tu vk/kj izkf/dj.k vè;kns'k ykxw gqvkµ

	 (1)	 18 fnlacj] 2019 dks

	 (2)	 11 tuojh] 2021 dks

	 (3)	 18 fnlacj] 2020 dks

	 (4)	 11 tuojh] 2020 dks

	134.	 23 ekpZ] 2021 dks ^gaxj gkWVLikWV fjiksVZ* fdlds }kjk 
tkjh xbZ\

	 (1)	 (FAO) rFkk (WFP) nksuksa ds }kjk lk>k :i ls 

	 (2)	 fo'o [kk| dk;ZØe (WFP)

	 (3)	 ;wuhlsiQ (UNICEF)

	 (4)	 [kk| vkSj Ñf"k laxBu (FAO)

	127.	 A die is rolled three times. The probability of 
getting a larger number than the previous number 
each time is–

	 (1)	 1/18	 (2)	 5/54
	 (3)	 5/72	 (4)	 13/216
	128.	 In a group 6 girls and 4 boys, four children are to 

be selected. In how many different ways can they 
be selected such that at least one girl should be 
there?

	 (1)	 214	 (2)	 206
	 (3)	 210	 (4)	 209
	129.	 When watch shows 7:45 am, the minute hand 

points towards East. After 3 hours, in which 
direction does the hour hand point?

	 (1)	 North - East 	 (2)	 East
	 (3)	 South	 (4)	 East - South
	130.	 A bas contains ` 1,50 paisa and 25 paisa coins in 

the ratio 25 : 9 : 5. If total amount in the bas is 
2460 `, then the number of 50 paisa coins in the 
bas is –

	 (1)	 720	 (2)	 1760
	 (3)	 360	 (4)	 580
	131.	 India has signed Memorandum of Understanding 

(MoU) in March 2021, with which of the following 
countries on cooperation in the field of Disaster 
Management, Resilience and Mitigation?

	 (1)	 Bhutan 
	 (2)	 Bangladesh
	 (3)	 Nepal 
	 (4)	 Sri Lanka
	132.	 Why Dholavira (Gujarat) was in new recently?
	 (1)	 Included in the list of National Parks
	 (2)	 This site was hit by terrorist attack
	 (3)	 Recently included in UNESCO's world 

Heritage site
	 (4)	 Declared as Tiger Reserve
	133.	 Rajashan Jan Aadher Authority Ordinance came 

into force on–
	 (1)	 18 December, 2019
	 (2)	 11 January, 2021
	 (3)	 18 December, 2020
	 (4)	 11 January, 2020
	134.	 'Hunger Hotspots Report' was released on 23 

March, 2021 by-  
	 (1)	 Jointly by FAO and WFP
	 (2)	 World Food Programme (WFP)
	 (3)	 UNICEF 
	 (4)	 Food and Agriculture Organisation (PAO)
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	135.	 iqLrd ¶laLÑfrd jh lukru nhB¸ ds ys[kd dkSu gSa\
	 (1)	 vtqZu nso pkj.k	 (2)	 Hk¡oj ¯lg lkekSj
	 (3)	 MkW- lR;ukjk;.k	 (4)	 vkbZnku ¯lg HkkVh

	136.	 varjkZ"Vªh; ,uh vokMZ 2020 fdls iznku fd;k x;k gS\
	 (1)	 lR;ukjk;.k jsM~Mh	 (2)	 vfer 'kkg

	 (3)	 jes'k xka/h	 (4)	 lh-,u-vkj- jko

	137.	 bVyh us fdl ns'k dks gjkdj ;wbZ,iQ, ;wjks&2020 iQkbuy 
thrk\

	 (1)	 iqrZxky	 (2)	 teZuh
	 (3)	 MsuekdZ	 (4)	 baXySaM
	138.	 u”khc fedkrh dkSu gSa\
	 (1)	 d”kkfdLrku ds jk"Vªifr	
	 (2)	 felz ds jk"Vªifr

	 (3)	 yscuku ds iz/kuea=kh

	 (4)	 eysf'k;k ds iz/kuea=kh

	139.	 lwph&I dks lwph&II ls feyku dhft, vkSj uhps fn, 
x, dwV esa ls lgh mÙkj dk p;u dhft,µ

		  lwph&I		 lwph&II 
	 A.	 Hkkfouk iVsy	 (i)	 rhjankth
	 B.	 fu'kkn dqekj	 (ii)	 Hkkyk isaQd
	 C.	 gj¯onj ¯lg	 (iii)	 Vscy Vsful
	 D.	 nsosanz >k>fj;k	 (iv)	 mQ¡ph dwn 

	 dwV%
		  A	 B	 C	 D
	 (1)	 iii	 iv	 i	 ii	
	 (2)	 iv	 ii	 iii	 i
	 (3)	 ii	 iii	 i	 iv
	 (4)	 i	 ii	 iii	 iv

	140.	 fuEufyf[kr esa ls dkSu VksD;ksa vksyfEid 2021 esa flYoj 
ind fotsrk jgs\ fn;s x;s dwV esa las lgh mÙkj dk 
pquko dhft;sµ

	 A.	 jfo dqekj nfg;k	 B.	 ih-oh- fla/q
	 C.	 ctjax iqfu;k	 D.	 ehjkckbZ pkuw
		 dwV%
		  Code-
	 (1)	 A ,oa D	 (2)	 A ,oa B
	 (3)	 A ,oa C	 (4)	 B ,oa C
	141.	 fu;kZrd cuus ds vkdka{kh yksxksa ds fy;s izkjaHk fd;k 

x;k ¶fe'ku fu;kZrd cuks¸ izo£rr fd;k x;k gSµ
	 (1)	 fjdks (RIICO) }kjk
	 (2)	 jktLFkkuh iQkm.Ms'ku ,oa fjdks (RIICO) }kjk
	 (3)	 m|ksx foHkkx] jktLFkku ljdkj }kjk

	 (4)	 m|ksx foHkkx] jktLFkku ljdkj ,oa fjdks 
(RIICO) }kjk

	135.	 Who is the .author of the book "Sanskriti Ri 
Sanatan Deeth"?

	 (1)	 Arjun Dev Charan
	 (2)	 Bhanwar Singh Sarnaur
	 (3)	 Dr. Satyanarayan
	 (4)	 Aidan Singh Bhati
	136.	 Who has been granted International Eni Award 

2020?
	 (1)	 Satyanarayana Reddy
	 (2)	 Amit Shah
	 (3)	 Ramesh Gandhi
	 (4)	 C.N.R. Rao
	137.	 Italy won the UEFA Euro-2020 by defeating which 

country in final?
	 (1)	 Portugal 	 (2)	 Germany
	 (3)	 Denmark	 (4)	 England
	138.	 Who is Najib Mikati?
	 (1)	 President of Kazakhstan	
	 (2)	 President of Egypt
	 (3)	 Prime Minister of Lebanon
	 (4)	 Prime Minister of Malaysia
	139.	 Match list-I with list-II and choose the correct 

answer from the code given below-
	 	 List-I		  List-II
	 A.	 Bbavina Patel 	 (i)	 Archery
	 B.	 Nishad Kumar 	 (ii)	 Javelin throw 
	 C.	 Harvinder Singh	 (iii)	 Table Tennis 

	 D.	 Devendra Jhajharia	 (iv)	 Highjump
		  Code-
		  A	 B	 C	 D

	 (1)	 iii	 iv	 i	 ii	

	 (2)	 iv	 ii	 iii	 i

	 (3)	 ii	 iii	 i	 iv

	 (4)	 i	 ii	 iii	 iv

	140.	 Who among the following won silver medal in 
Tokyo Olympic 2021? Select the correct answer 
from code. given 'below -

	 A.	 Ravi Kumar Dahiya	 B.	 P.V.Sindhu 
	 C.	 Bajrang Punia 	 D.	 Mirabai Chanu 
		  Code-
	 (1)	 A and D	 (2)	 A and B
	 (3)	 A and C	 (4)	 B and C
	141.	 "Mission Niryatak: Bano" campaign to promote 

aspiring exporters is launched by-
	 (1)	 RIICO	
	 (2)	 Rajasthani Foundation and RIICO
	 (3)	 Department of Industries, Government of 

Rajasthan
	 (4)	 Department of Industries, Government of 

Rajasthan and RIICO
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	142.	 VksD;ks iSjkfyfEid 2020 ds lekiu lekjksg esa dkSu&lk 
f[kykM+h Hkkjrh; èot okgd cuk\

	 (1)	 vofu ys[kjk

	 (2)	 nsosUnz >k>fj;k

	 (3)	 Vsd pan

	 (4)	 laqnj ¯lg xqtZj

	143.	 fuEukafdr esa ls dkSu ̂ esjkFku okWj % yhMjf'ki bu dkWEcsV 
bu vI+kQxkfuLrku* uked iqLrd dk ys[kd gSa\

	 (1)	 fØl ewuh

	 (2)	 tsizQh 'ykslj

	 (3)	 lSeq,y eks;u

	 (4)	 dkVZj eydkfl;u

	144.	 ¶ukch ,eth¸ gSµ
	 (1)	 tkS dh ,d fdLe

	 (2)	 xsgw¡ dh ,d fdLe

	 (3)	 eDdk dh ,d fdLe

	 (4)	 cktjk dh ,d fdLe

	145.	 dkWyst fo|k£Fk;ksa dks fMthVy vdknfed lkexzh dh 
lgk;rk iznku djus ds fy;s jktLFkku ljdkj us ,d 
,si dks izkjaHk fd;k gSA bl ,si dk uke D;k gS\

	 (1)	 ekbZ bT;wds'ku yks ,si	 (2)	 ekbZ cqd yks ,si

	 (3)	 ekbZ Dykl yks ,si	 (4)	 ekbZ dks¯px yks ,si

	146.	 Hkkjr dh izFke Ñf"k vk/kfjr ¶dqlqe¸ lkSj mQtkZ la;a=k 
ifj;kstuk dks jktLFkku ds fdl xk¡o esa izkjaHk fd;k 
x;k\

	 (1)	 Hkkyksth

	 (2)	 pk.kkSn

	 (3)	 jkuh

	 (4)	 fpryokuk

	147.	 fuEukafdr esa ls fdlus VkbZe 2021 fyLV vkWiQ 100 
eksLV bUÝyw,uf'k;y ihiy esa LFkku izkIr fd;k gS\

	 A.	 ujsUnz eksnh	

	 B.	 eerk cuthZ

	 C.	 vMkj iwukokyk	

	 D.	 eatw"kk ih- dqyd.khZ

		 lgh mÙkj gSµ

	 (1)	 dsoy (A), (B) vkSj (C) lgh gSa

	 (2)	 dsoy (B), (C) vkSj (D) lgh gSa

	 (3)	 dsoy (A) vkSj (B) lgh gSa

	 (4)	 (A), (B), (C) vkSj (D) lgh gSa

	142.	 Which player was the Indian flag bearer at the 
closing ceremony of Tokyo Paralympic 2020?

	 (1)	 Avani Lekhara
	 (2)	 Devendra Jhajharia
	 (3)	 Tek Chand

	 (4)	 Sundar Singh Gurjar

	143.	 Who among the following is the author of the book 
'Marathon War : Leadership in combat in 
Afghanistan'?

	 (1)	 Chris Mooney

	 (2)	 Jeffrey Schloesser

	 (3)	 Samuel Moyn

	 (4)	 Carter Malkasian

	144.	 "NABI MG" is-
	 (1)	 A variety of Barley 
	 (2)	 A variety of Wheat 
	 (3)	 A variety of Maize 

	 (4)	 A variety of Millet

	145.	 Rajasthan government has launched an app to help 
college students with digital academic materials. 
What is the name of this app?

	 (1)	 MyEducationLo app
	 (2)	 MyBookLo app
	 (3)	 MyClassLo app

	 (4)	 MyCoachingLo app

	146.	 India's first farm based "KUSUM" solar power 
project was commissioned in which village of 
Rajasthan?

	 (1)	 Bhaloji
	 (2)	 Chanod
	 (3)	 Rani

	 (4)	 Chitalwana

	147.	 Who among the following have got place in TIME 
202l list of 100 most influential people?

	 A.	 Narendra Modi
	 B.	 Mamata Banerjee
	 C.	 Adar Poonawalla
	 D.	 Manjusha P. Kulkarni
		  Correct answer is –
	 (1)	 Only A, B and C are correct
	 (2)	 Only B, C and D are correct
	 (3)	 Only A and B are correct

	 (4)	 A, B, C and D are correct
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	148.	 Read the following statements about Supply Chain 
Resilience Initiative (SCRI)-                  

	 (i)	 In the context of International trade, supply 
chain resilience is an approach that helps a 
country to ensure uninterrupted supply of 
import in an unexpected situation.

	 (ii)	 This is an initiative of five countries, India 
is one of them.

		  Choose the correct code:-
	 (1)	 Only (i) is true	
	 (2)	 Only (ii) is true
	 (3)	 Neither (i) nor (ii) is true	
	 (4)	 Both (i) and (ii) are true
	149.	 President Ram Nath Kovind granted assent to 

which Constitutional Amendment' Act. on 18th 
August, 2021?

	 (1)	 108th

	 (2)	 107th

	 (3)	 106th

	 (4)	 l05th

	150.	 Tianwen-1 is -
	 (1)	 Moon rover vehicle of China
	 (2)	 Spacecraft of China
	 (3)	 Inter Continental Missile of China
	 (4)	 Space Station of China

	148.	 vkiw£r Ük`a[kyk yphykiu igy (SCRI) ds ckjs esa 
fuEufyf[kr dFkuksa dks if<+,µ

	 (i)	 varjkZ"Vªh; O;kikj ds laca/ esa vkiw£r Üka`[kyk 
yphykiu ,d n`f"Vdks.k gS] tks ,d ns'k dh 
fdlh vizR;kf'kr fLFkfr esa vk;kr dh fuckZ/ 
vkiw£r dks lqfuf'pr djus esa enn djrk gSA

	 (ii)	 ;g ik¡p ns'kksa dh ,d igy gS] Hkkjr muesa ls 
,d gSA

		 lgh dwV pqfu,µ

	 (1)	 dsoy (i) lR; gS	

	 (2)	 dsoy (ii) lR; gS

	 (3)	 u gh (i) vkSj uk gh (ii) lgh gS

	 (4)	 nksuksa (i) vkSj (ii) lR; gSa

	149.	 jk"Vªifr jkeukFk dks¯on us fdl lafo/ku la'kks/u 
vf/fu;e dks 18 vxLr] 2021 dks eatwjh nh\

	 (1)	 108ok¡	 (2)	 107ok¡

	 (3)	 106ok¡	 (4)	 105ok¡

	150.	 fr;kuosu&1 gSµ
	 (1)	 phu dk panzek jksoj ;ku	

	 (2)	 phu dk varfj{k;ku

	 (3)	 phu dk varj egk}hih; felkbZy

	 (4)	 phu dk varfj{k LVs'ku
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